ORMISTON

SWB Knowledge Organisers
AEADEN Autumn Term - Year 8

Name:

Please remember:
« |tis to be kept inside your knowledge organiser book
« |tis to be brought into school every day

Regular retrieval throughout a scheme of learning (daily, weekly and monthly) has been proven to reduce the rate of
forgetting, supporting you to retain more in long term memory- making assessments/ exams way easier! The challenge for you
as a student is to make sure you use your knowledge organiser for each subject properly to help you to know more and
remember more over time. We've created this walk through to support you in using your knowledge organiser- for more support
speak to your subject teachers.




Using your Knowledge Organiser
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Look

Cover

Write

Check

Repeat

Start with a small section of knowledge
that you want to remember e.g Henry
VillI's wives in History. Read through this
section of the knowledge organiser (a
couple of times if it helps)

Now cover up this section of your
knowledge organiser with a post it note
or scrap paper.

Self quiz- what can you remember and
rewrite¢ Make sure you do this without
looking back at your knowledge
organiser.

Remove the post it and check for
accuracy- did you get the key
terminology? Was it spelt correctly2
Was the order correct? If you drew a
diagram, how much of this did you get
correcte

Most importantly- what did you miss
oute

After a short break away from your
knowledge organiser repeat the look,
cover, write, check until you can recall
all of the facts correctly without
prompts.

This process can be used for any new
knowledge that you want to acquire. I
is good idea fto do this on a regular
basis, once a week.

Strategy 1- Look, cover, write, check — A really simple but effective way to use your knowledge organiser. Focus on a specific area of your knowledge organiser.
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Focus

Big ideas

Explain it

Link it

Record it

Make it manageable by selecting an

area of your KO where your learning is

not secure. Don't waste time going off
something you can already do!

Pick out the main points or the big
ideas in this section.

Explain what you know about the main
points (this could be written or shared
verbally — a friend, a family member.

Now, see how it links to other areas
within the subject. E.g Eating meat -
causes global warming. Cows produce
methane which is a greenhouse gas.

Write down as many ‘think it, link it’
ideas as you can in your book. See if
you can beat others in you class!

Strateqgy 2- Think it, link it — Great for connecting the big ideas in your subject. How does ‘X’ relate to ‘y'. What are the key factors which make an equation/ experiment/
process worke Challenge yourself to see how many links you can make!
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Select topic

Prepare quiz

Answer it

Self check

Repeat

Decide which area you want to be
quizzed on (this might build up over
fime)

Get someone else fo prepare 10
random questions on that fopic to
challenge you.

Set a time limit (depending on the
number of questions) and answer the
questions without looking at your KO.

Now look at your KO to self check-
make a note of your score. Celebrate
your successes and make a note of
anything you missed or got incorrect.

Return to this section in 2/3 weeks- see

if you can improve your score! Re-do

those questions that you missed or got
incorrect.

Strategy 3- Knowledge quiz - You might try this after a few weeks of using your knowledge organiser. Get someone to set you 10 questions using your knowledge
orgainser. These could be spellings, key words, processes, equations etc to see how much you can remember! Record your score and see if you can beat your personal

best each half term!22
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Year 8 — English — Sherlock Holmes — Plot and Key Quotations

A Scandal in Bohemia

Plot Overview

+ The King of Bohemia plans to
o Norwegian princesslslel S it
previously had a relationship with a
Adler is
threatening to
she has of herself and

the king together.

+ Holmes il <PXelEIdinto revealing
where she keeps the photograph,
oIVl glSROUTsMarts Holmes and

el with it. Adler decides not
to use the picture against the king.

She leaves a picture of herself in its
place, which Holmes keeps as a
reminder of her.

Holmes: “l have no data yet. Itis a

capital mistake to |allelfNERelEiiel(=]

Holmes about Irene Adler: “...the
woman..."

Watson about Holmes: “He was, |
take it, the most perfect

that the

world had seen.”

The Red Headed League

Plot Overview
+ Jabez Wilson gets a job with the
mysterious ‘Red- Headed

[Kelele[SIMb e Ccause of his ‘flame’

* One day, he is ga€VAEl el \Arelle)
that he is no longer needed [o)%

the league so visits Holmes to ask
him to investigate.

* Holmes discovers that his story

reveals a plot to JietelRifelagKe!

ofelgl Q¥el¥ligwWhich is successfully
stopped.

“...dreamy eyes were as unlike

lisleN=XeldHolMmes the sleuth-houndi

“...waving his long, thin fingers in
time to the music.”

“...lust of the chase...”

The Blue Carbuncle

Plot Overview
* A policeman named Peterson

[Nleft with a man’s hat and
Christmas goose.,

He takes the goose home to eat
and discovers [ele)[Vl=Nele[f oIV alel[=Y (e
rare, and very valuable jewel)]
inside the goose!

+ Holmesrecognises the jewel as the

one that was stolen |ifelaaRials
Countess of Morcar.

BEEdand Watson set off to
discover how the blue carbuncle
was stolen and how it ended up in
a goose.

Watson to Holmes: “You have an

answer to everythingl

Watson: “My dear Holmes.”
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Year 8 — English — Sherlock Holmes — Context and Characters

Before he became
a writer, Doyle
studied medicine.
He based the
character on
Professor Bell
because Bell
worked in a
scientific way.

b
Sir Arthur Conan
Doyle was the

author of the
Sherlock Holmes

stories. [gleh el e}
trained doctorg

Professor Bell

Sir Arthur Conan Doyle

Sherlock Holmes
A fictional consulting detective
created by Arthur Conan Doyle. He

[N<lelialfor his intelligence,
introspection and dual naturcliglERs
described as an ‘[eJeNsiyilale

el because of his ability to
work out who people are with
seemingly very little evidence.

Periodicals (D)

&

Doyle’s short stories \
were published
individually in
periodical (D) and

then collected to form
The Adventures of
Sherlock Holmes short

story collection in 1892/

221B Baker STreet

Main Characters

/Sherlock Holmes' \

fictional home

WelN”? | B Baker
Street, which is
now a museum (i

Doyle’s life and

The [KelglelelaNie]ilel=}

establishedin 1928,

before then people
would investigate
crimes themselves, or
pay someone else.

.

kwork. /

2\

London Police

Doctor Watson
Holmes' former flatmate, a
doctor and his closest
companion. The stories

told from his point of view}p

working as Holmes' assistant.

Keyword Definition

A

Enlighten

To provide someone with
information and understanding.
People come to Holmes so that
they can be enlightened on a
crime.

Deduction

The process of reaching a
decision by looking at the facts
that are known. Holmes is able
to use his skills of deduction to
solve crimes.

Scandal

A scandal is something that
shocks people because they
think it is morally (H) wrong.
The King of Bohemia fears that
scandal of his relationship with
Irene Adler being exposed.

Periodical/
serial

Books, magazines or other
entertainment that are released
on a regular basis. The Strand
Magazine was a periodical that
published the Sherlock Holmes
stores.

Introspective

A Scandal in Bohemia The Red Headed League The Blue Carbuncle

Irene Adler
A famous American opera singer who had a
relationship with the future King of Bohemia.

To Holmes, she is ‘[iER e ael e
outsmarted him§

King of Bohemia =y
WY, c: o o of ceniral Europ TR
King is engaged to a Scandinavian princess but
five years previously was madly in love with Irene
Adler. Because of his status, he was unable to
marry her at the fime, which he regrets. The King
still respects Adler.

Jabez Wilson
A London pawnbroker who has distinctively
red hair. He takes the job working for The

Red-Headed League but [UekRifelcleR o)Al

assistant Vincent Spaulding] 9

Vincent Spaulding/John Clqy‘a

Jabez Wilson's assistant. This is actually a

eiNe[V[N=Rie]lelsls@e)d\Who attempts a

bank robbery using Wilson's shop as an
eqasy passage.

When you examine your own
thoughts, ideas, and feelings.
Sherlock Holmes can be
introspective. This makes him a
better detective.

James Ryder
Head attendant of the where the
Blue Carbuncle goes missing.

Holmes has a dual nature: his
quiet introspective side, and his
manic detecting side.

Catherine Cusack Fallible

James Ryders’s [elelele]gg]el/[ef=Xelple o] o)

Kl alieX M aglellel] she helps to steal

the jewel.

Someone who is fallible makes
mistakes. Someone infallible is
always right. Holmes seems

infallible but Irene Adler proves

that heis, in fact, fallible.

John Horner

The man who [NitelalEleRie)dialXellanls. He

is racked with guilt and confesses when
Holmes questions him.

Morals are standards of
behaviour or principles
of what is right and wrong.
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Y7 - English — Mastery Writing 1

Mastery Writing One Rules

A3

Capital letter rules:

[ ]

Tense rules:

Folge-lalellaBSNasIfMthe capital letter is a bigger version of the lower case

You must be very careful to clearly write the correct size for these lefters.
VY-NeNelelelife|RISNEIdiIf a word is the name for a specific person or place.
Otherwise, do not use a capital letter.

When | is used by itself in a sentence, it should always be a capital letter.

PRESENT

A3 A3

papers on the floor and was not happy

Sentence rules:

[ e

When you say what happened, you put “ed” lelgRislcR=lsleKelliig[-XeleiilelgR

Some verbs (I) can't be changed from what happens to what happened by
adding ‘e’ or ‘ed’. You have to learn how these words change.

In the past, change the verb “to be” to “was”. If the subject is singular (0),
change it to "were” if the subject is plural (o) or you.

i

When Ashraf went around the corner, he bumped into his teacher. Mr Smith droppet

B
PRESENT
< _PasT_¢

his

. “Watch where you're going, Ashraf,” he said.

A complete sentence must contain a Jilej{leila)lelaleReR%=T el. If it does nof, it
is a mistake called an incomplete sentence.

Start a new sentence when the IdRVeEERgIlcppears. If you do noft, itis a
mistake called a fused sentence (g).

You can correct an incomplete sentence by adding either a subject or a
verb to make it a complete sentence.

Do not start a sentence with ‘and’. If you see a sentence starting with ‘and’,
delete it and tidy the sentence.

Join two sentences that have the same subject (n)a\iEiellelellsleRialCR{U] K3 fele}
and second subject with ‘and’.

Verb and subject rules:

+ Words like even if they don’t look like verbs (). They

are the verb “to be".
A singular subject (n) should use ‘was’ asin ‘| was going to the shops.” A

plural (o) subject involves more than one person or thing [elgleEiglel8]lel slel¥%Z=

‘were’ as in ‘We were going to the shops.’




= Y7 — English — Mastery Writing 1 — Story Writing Model Example.

A Adjective A word which describes a noun:
Example: sweet, short, bitter, stinky

]

You will receive a set of B Adverb Describes a verb or adjective. An adverb
; - . Al to hi answers how, where, when how much,
pictures like these. You will onec)i( Irggk:z C?T rr:liss roem how often. E.g.: quickly, easy and never.
gleleRfelpractice your writing -
. : poster of his hero. C Complete A sentence which contains a subject and
working on the rules {eJVAY%:] Sentences a verb
been doing in [lel ] ¥ e Mo [o{e| Example: She went fo the shop
the lessons before§ . I
D Complex A sentence contfaining a subordinate
You must include all the Sentences clause
Mastery Checks. E Conjunctions A conjunctionis a part of speech that
i connects words, phrases, or clauses.
Carol Example: for, and, but.
F Dialogue Speech between two or more people.
G Fused Sentences A sentence which has not used
'h introd d punctuation between the next subject.
ave inroouce . Example: She went fo the shop she
my bought some milk.
n).I have told the i
(cuidience where l have written PREENT H Indent Starting the first line of a paragraph further
A3 in the e8] i
away from the margin than other
they are. - - . m paragraphs.
Alex was playing the violin for his parents,
Carol and Piotr and his cat, Misty in their |iving Personal Pronoun A first person word which replaces a
! hovte structured room. Alex was trying really hard, but his | have o name, like "we, I" etc.
Y story hs. | audience thought he sounded terrible. °m|'°°"°" J Simple Sentences A sentence with one clause, one subject
pororop S. ® ) in my story. and one verb.
have Devastated,-Alex ran up to his Example: Jack likes fishing.
(h) my] room and looked at his poster 6fhis-hero. The
. . . . . | have used K Subordinate A clause which does not make sense on
baragraphsh next night, he began to practice in his verb IS Clavse s own. (6.0, whon i rang in sh

bedroom. He practiced to Misty, who
seemed to enjoy his violin playing now.

show how my answered the phone when it rang’).

| have written in character is L Verb A word which describes an action

The next day, Alex plucked up feeling. Example: read, write, drive, walk.

FelleEea )L @e Clog!’(]fge'v’(.OprychOT%hl‘S l}qmlz again. M Complication Something which causes a difficulty for a
arol, Piotr, Misty and their friends were | have character,

| have used oYY delighted at how good the piece of music the problem]

sounded. \ N Subject The person or thing doing the verb in the
sentences

I have used [efe]gg] (504 sentence.
throughout my complex|

| —— Alexwas happy too.
(d) ©) Singular/plural Singular means one and plural

work.
throughout my work. means more than one.
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Y7 - English — Mastery Writing 2

MY

Mastery Writing Two Rules

Cﬂ Paragraph rules:

s FUTURE >
I ||

Tense rules:

When you fell what [lgaaie, you put “ed” on the end of the action.

When you put actions in the past simple, you say what happened, not what
was happening.

When you start with when it happened, you put a right after when it
happened.

You don't use a comma if when it happened is at the end.

Cﬂ As Benedict left his home, he was filled with joy. His mother had let him finally wear

his new football boots. That affernoon, he returned home and his boots were ripped.

PRESENT
+ New paragraphs start from the margin. All other lines start I
at the margin.
« Thisis called ERanE I o paragraph.
3 FUTTRE >
1
= Sentence and subject rules:

If the next sentence uses the same m (n)(thing or person that the
sentence is talking about), you should use a fo replace if.

You can only use the pronoun (i) to replace a subject you have used in the
sentence before.

When you list two things a subject did in one sentence, you only name the

subject (n) once.

If there are two objects in a sentence, you can't use it in the next sentence.

Grammar and punctuation rules:

ifA_

If a person said more than one sentence, put everything they said inside the
If the part that starts with 'although’, 'unless' or 'if' is at the start of the
sentence, it is followed by a comma:

e.g. Although Cerys did not receive the puppy she wanted for her

birthday, she was grateful for all the other gifts she received.




SWB Y7 — English — Mastery Writing 2 — Story Writing Model Example.

ACADEMY
A Adjective A word which describes a noun:
Example: sweet, short, bitter, stinky

B Adverb Describes a verb or adjective. An adverb

You will receive a set of answers how, where, when how much,
pictures like these. You will how often. E.g.: quickly, easy and never.
gletteRielpractice your writing - C Complete A sentence which contains a subject and
working on the rules e | have [RiNelo) Sentences a verb.
been doing in el f s We o1 ] Laurence\ frohmTTTPLe four ?ﬁfﬁs Example: She went to the shop
the lessons before} what the most likely D Complex A sentence containing a subordinate

. set of events are Sentences clause
You must include all the Tom siopped ronning.ond lymed/around. and will write them —— —
Mastery Checks. info a story. E Conjunctions A conjunctionis a part of speech that

connects words, phrases, or clauses.

Example: for, and, but.

-

Inverted commas The punctuation which indicates when
speech has happened. * and “.

G Fused Sentences A sentence which has not used
punctuation between the next subject.
Example: She went to the shop she

| have introduced

my . bought some milk.
(n).I have told the l have written H Indent Starting the first line of a paragraph further
audience where A3 in the away from the margin than other
they are. paragraphs.
Tom, Jordan and Laurence Personal Pronoun A first person word whichreplaces a
had started to race each other. Tom and | have a name, like “we, I etc.
Ihave sfructured Jordan had begun to take the lead. T (m) . - -
my story 'rr: | Laurence fripped over his laces and fell onTo/ in my story. J Simple Sentences g;g’gﬁgizrvg”h one clause, one subject
paragrapns. the ground. | have used s Ik ke fichi
have g I (I) . Example: Jack likes fishing.
CH Devastated, Laurence held his | show how my K Subordinate A clause which does not make sense on
baragraphsh knee in agony. Just when he thought he was | character s Clause its own. (g% 'Wpeﬂ it ny?g’ in ‘she.
all alone, Tom tumned around fo help him up. | feeling. answered the phone when ifrang’).
- - /Ajlhough Jordan TeC‘hlj‘IIC ly L Verb A word which describes an action
| have written in won the race, Laurence and Tom finished Example: read, write, drive, walk.
com plete )
TQgeThqr and They won each other’s M Complication Something which causes a difficulty for a
sentences (c). friendship. character,
| have
the problem} N Subject The person or thing doing the verb in the
sentence.
| have used O Singular/plural Singular means one and plural means
(d) more than one.
throughout my work. P Infer When you work out information from the

evidence you have.




swe Y8 — English — Mastery Writing 3

ACADEMY

L
PRESENT

C” Paragraph rules: Mastery Writing Three Rules Tense rules: <&

. New paragraphs start from the margin. All other lines
start at the margin.

. This is called [ an IO BC paragraph.

. When you put actions in the past simple, you say what [gle[eJeIylXe|, not what was
happening.

. When writing in the past tense, be careful to choose the to go with

. A new paragraph should start when there is o [l il R (111 -3 el (e[ the subject. Noft all verbs in the past simple end with ‘ed’. E.g. The boy got sent
topic or a new person/speaker begins to speak. (TiPToPS)H home.

FUTURE
u

.

1
:

1

While Sally sat and wrote a lengthy letter, an abundance (a) of tears dropped on the page. From her office

window, she noticed Travis's dog through a pane of glass although her glossy eyes impaired her vision.

C
Sentence and subject rules: n"‘_- Punctuation:
. Sentences must either be, or contain, an independent . When e S I RS (c) are joined together by a comma !commo silice |i“ iOU should
clause. correct this by changing the comma to a full stop. Alternatively, [olelale[SR [ =8{=Ye{e]o[e NsTe [ I=Tsle (13}
. An indepbendent clause must have a (oA [ [VET=N {0} (e e B V] Yo e [ToTe | XA VEL-X (9] TO keep the comma. For example: ‘Tom read the novel. His friend
T e e e, e resses a complete idea (T T be o saw the movie’ and ‘Because Tom read the novel, his friend saw the movie.’
fragment (p). . Apostrophes of TN replace the letter you have removed. E.g. He's the greatest dancer — He s
. Phrases beginning with ‘although’, ‘if’, ‘unless’, ‘even the greatest dancer. You must not use an apostrophe to show that a noun is plural e.g. “the egg’s”, or
though', ‘because’ and ‘whenevér’ c;re o’rherlforms of the verb is in the third person e.g. “Barry walk's"” - this is incorrect.
subordinate clauses (k). . If a singular (o) noun:
. However, there are other subordinate clauses (k) that do - doesn'fendins, you add an 's e.g. Kate's caf. y
not begin with these words. For example, ‘Like a bullet - endsins, you sfill add 's e.g. James's caf, Dickens'’s wrifing.
speeding through the air, he ran through the door’. - endsinss, you stilladd ‘s e.g. The princess's cat.
. If the IRl RALIRA(S) is at the start of the sentence, a * If a plural (o) noun: ‘ L
comma should follow. If the temporal clause is at the end - endsins, you add * e.g. Th‘e cats’ dinner. o
of a sentence, no comma should follow. -does not end in s, you add ‘s e.g. The people’s voice.
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Y8 — English - Mastery Writing 3 — Story Writing Model Example.

You will receive a
single picture like
this. You will need to

fhe rules YIS
been doing in m
lessons before]

Vocabulary will be
provided to guide
your narrative.

You must include alll
the Mastery Checks.

Part 1: Opening

Part 2: Problem

Write an BYIERd

in the

clear,

RitIs(E. You

should think
carefully about the

Part 3: Solution

Part 4: Happy Ending

different sections do

what they are for.
This narrative
structure is for
‘problem solved’
stories. Not all stories
will follow this

deafening | emergency pressure void
oxygen mission terror perilous
Aa

C” As Jamila departed the International Space

Station, she inhaled. Poised, she cleared her throat and informed______

| have introduced my

main subject (n)Ml

have told the
audience where they
are.

her colleagues that she was prepared for the perilous task
ahead. Jamila trained for years for her mission in locating the

missing astronaut. She knew that if something went wrong, she

had spirit on her side. On the edge of the platform, she looked }_nﬂ@

structure.

| have written in the

past tense throughout,

| have used Mastery
vocabulary.

out at the void. The quiet put her at peace. She knew lris, her

n

daughter, was proud.

C” The deafening silence surrounded Jamila. Her
only way out was to continue on. In that moment, she was

alerted to a hissing sound. To Jamila’s horror, she realised she was

| have o [T

my story and used

direct speechjife]

show this using

()]

quickly losing oxygen. Wide eyed and overwhelmed by terror,
she screeched out to her colleagues, “Please help. My oxygen
—tank is faulty!”. Jamila closed her eyes and felt the strong rhythm

of her heartbeat in her throat. Silence once again surrounded

her. Confused and under pressure to survive, she noticed the

International Space Station in the distance.

| g
| have used

sentences (c) throughout.

I have followed the writing

structure of a
N\ B (I3 AEach

paragraph focuses on an
element of the writing
structure.

Key terms Definition

A Abundance A very large amount of something.
B Temporal A clause which informs the reader about
clause the time when the action of main verb of
the sentence occurred.
C Complete A sentence which contains a subject and a
Sentences verb. Makes sense alone.
(idea) Example: She went to the shop.

D Complex A sentence containing a subordinate
Sentences clause (k) and a main clause.

E Inverted The punctuation which indicates when

commas speech has happened. " and *.

F Fused A sentence which has not used punctuation

Sentences between the next subject. Example: She
went to the shop she bought some milk.

G Comma splice A comma splice is when two independent
clauses are incorrectly joined by
a comma to make one sentence.

H Indent Starting the first line of a paragraph further
away from the margin than other
paragraphs.

Apostrophe of A punctuation mark that shows that one
possession thing belongs to another. “Mark’s pen.”

J Apostrophe of A punctuation mark that is used to show

omission two words have been combined info one.

K Subordinate A clause which does not make sense on its

Clause own. (e.g. ‘whenitrang’ in ‘she answered
the phone whenit rang’).

L Verb A word which describes an action
Example: read, write, drive, walk.

M Subject The person or thing doing the verb in the
sentence.

N Singular/plural Singular means one and plural

means more than one.
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ACADEMY

Adding and subtracting negative and positive numbers

Negative numbers are COLD numbers -4 -1 -11 -7 -56

Positive numbers are HOT numbers 4 9 17 70 46

Adding a positive humber

5+2=7
NN

cotder t———————————————p Horer

—7-6-5-4-3-2—-1 01 2 3 4 5 6 7

Adding hot makes it
hotter. So, 5 gets hotter
by 2 degrees to 7

Subtracting a positive humber

4-3=-7

Adding cold makes it
colder. So, 3 gets colder
by 2 degrees to 1.

YAYAY A
Colder Hotter

—-7-—-6-5—-4-3-2—-10 1 2 3 4 5 6 7

Adding a negative number

3+-2=1

Keyword/Skill Definition/Tips
Integer a number which is not a fraction;
a whole number.
Negative Number less than zero. Can be
numbers integer, decimal or fraction, e.g. -
2,-47, =
2
Positive Numbers bigger than zero. Cam
numbers be integer, decimal or fraction,
e.g.536,2
Multiple A multiple of a number is all the
numbers in that fimes table
Commutative | An operation that, in any order,
gives the same result, e.g. 4x2=8
and 2x4=8, 5+2=7 and 2+5=7
Equal pairs Two sums that have the same
answer, e.g. -5+-2=-7 and -5-2=-7,
5--2=7 and 5+2=7
Solution Answer to a problem
Sum Total of a series of numbers
Product Multiply
Difference Answer after subtraction of two

value

cotder t——————————————— Hoter

—-7-6-5-4-3-2—-10 1 2 3 4 5 6 7

AV AV

Taking away hot makes it
colder. So, -4 gets colder
by 3 degrees to -7

Subtracting a negative number

5--4=-1

cotder t——————————————— Hotter

—-7-6-5-4-—-3-2—-1 0 1 2 3 4 5 6 7

Taking away the cold
makes it hotter. So, -5 gets
hotter by 4 degrees to -1.

Other topic/units this could appear in:

Working Towards:
Unit 1 — Numbers, Powers, roots, decimals

and rounding

Unit 2 — Expressing and substituting into
simple formulae

Crossover:

Unit 19 - Expand and simplify
Unit 20 — factorising

Unit 29 — straight line graphs
Unit 48 — Vectors
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Multiplying and dividing negative and positive numbers

Y7 Maths - Mastery: Unit 5 — Positive and Negative Numbers 2

(

Multiplying + and a -

Multiplying a negative number by a positive number gives
a negative answer

negative X positive = neg

positive X negative = neg

ative

ative

5x-2=-10
3x4=-12

Ox ® =0
OHx O = O

\

Y4

Dividing + and -

negative + positive = negative

Dividing a negative number by a positive number gives a

negative answer

positive + negative = negative

10+-2=-5
20+ 4=-5

O+ @® =0

@ =

AN

Multiplying - and -

negative X negative = positive

Multiplying a negative number by a negative numb
positive answer

-5x-2=10
3x-4=12

rgivesa

X D =

&

7\

N\

Dividing - and -

Dividing a negative number by a negative number dgives negative + negative = positive

a positive answer

-10+-2=5
-20+-4=5

VAN

Keyword/Skill Definition/Tips
Integer a number which is not a fraction;
a whole number.
Negative Number less than zero. Can be
numbers integer, decimal or fraction, e.g. -
2,-47, =
2
Positive Numbers bigger than zero. Cam
numbers be integer, decimal or fraction,
e.g.536,2
Multiple A multiple of a number is all the
numbers in that fimes table
Commutative | An operation that, in any order,
gives the same result, e.g. 4x2=8
and 2x4=8, 5+2=7 and 2+5=7
Equal pairs Two sums that have the same
answer, e.g. -5+-2=-7 and -5-2=-7,
5--2=7 and 5+2=7
Solution Answer to a problem
Sum Total of a series of numbers
Product Multiply
Difference Answer after subtraction of two

value

Other topic/units this could appear in:

Working Towards:
Unit 1 — Numbers, Powers, roots, decimals

and rounding

Unit 2 — Expressing and substituting into
simple formulae

Crossover:

Unit 19 - Expand and simplify
Unit 20 - factorising

Unit 29 — straight line graphs
Unit 48 — Vectors




&D:sws Y7 Maths — Mastery: Unit 5 — Positive and Negative Numbers Challenge

ACADEMY

Absolute value is the positive distance from zero. Inequalities

<less than > greater than

—765432101234567

-3>-12
“negative 3 is greater than negative 12"

-3is 3 from zero. So, its 4is 4 from zero. So, its
absolute value is 3. absolute value is 4. -1<5

“negative 1 is less than 5"

Geqoﬁve Numbers Fact families \ More advanced use of the inequality symbols:
Examples:
-3x5<3x-2 5--2>5-2

|

1

1l
(oo}

(-2) x (-4)

U

-15is less than -6 J 7 is greater than 3
2n>4

2n is more than 4. So, n > 2.

N y

ﬁhallenge: When multiplying or dividing negative and positive numbers, always work out the answers in pairs if there is \
more than two numbers in the problem.

Examples: 1. 3x4x-2 2. -20+-2+-2 3. -4x-5x-3x2
- — -
12 x-2 10 +-2 20 x-3x2
=-24 =-50 -60 x2 =-120

Keyword/Skill Definition/Tips
Integer a number which is not a fraction; a
whole number.
Negative Number less than zero. Can be
numbers integer, decimal or fraction,
eg.2,-47, -

Positive numbers Numbers bigger than zero. Cam be

integer, decimal or fraction,

e.g.53.6,2

Equal pairs Two sums that have the same
answer, e.g. -5+-2=-7 and -5-2=-7, 5- -
2=7 and 5+2=7

Sum Total of a series of numbers

Product Multiply

Difference Answer after subtraction of two value

Absolute value Is the number’s distance from zero,

without regard for signs.

Greater than > Bigger

Less than < smaller

\_ J

Other topic/units this could appear in:
Working Towards:

Unit 1 — Numbers, Powers, roofs, decimals and
rounding

Unit 2 — Expressing and substituting info simple
formulae

Crossover:

Unit 19 - Expand and simplify

Unit 20 — factorising

Unit 29 — straight line graphs

Unit 30 — quadratic and cubic graphs

Unit 48 — Vectors
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ACADEMY

Algebraic
Notation

Each square represents the value of a
When we have 2 squares, we have 2 lots of a
We write this as 2a and it is called a term.

If we add another amount of a, we write this as 2a + 5a
This is called an expression.

Bl +-EEEEE

When we work out the answer to this addition, the
expression becomes an equation. 29 + 55 = 73

When terms are multiplied, they become squared.

Simplify:

4r— 55+ 2rs —8s - 3r

4f—5s + 2rs —8s =3

4r=3f— 55 -8s + 2rs
v v
ir —13s + 2rs

(we don't write the 1)

Simplifying
Expressions

Highlight the like terms.

Include the operation in

front!

Collect the like terms
together and add or
subtract them to

simplify.

Final answerisr—13s + 2rs

Other Topics/Units this could appearin:

+  Expressions & substituting into simple

formulae

Expand and simplify
Factorising

Solving Equations
Subject of Inequalities

We show this with a power/index of 2: 2
axXxa=a
We can use the distributive Expanding [
property to expand brackets. rackets

We can factorise a number or expression by
writing it as a product of two or more factors.

] Factorising

[4(n+3}=4n+12 ] . O 0O O

Factorising
n 3 is the
. oo inverse of
. expandin
4 4n | 12 oo

. 000

[ 15+9m = 3(5 + 3m) ]

BEEcoooo
BEEoooog 3
EEECooooO

5

Im

15

O9m

Keyword/Skill Definition/Tips

Variable A symbol for a number we do
not know yet, it is usually a letter.

Term Either a single number or a
variable, such as 4 orn or 3a or
by.

Expression A mathematical statement
written using symbols, numbers
or letters.

Equation A statement showing that two
expressions are equal.

Formula Shows the relationship between
two or more variables.

Simplifying Collect ‘like terms’.

Expressions

Be careful with negatives.
x? and x are not like terms.

Substitute In algebra it means replacing
letters with numbers.

Expand When we multiply a term across
a bracket, e.g.3(a+2)=3a+6

Factorise The inverse of expand. When we

divide an expression by all
common factors or terms, e.g. 6g
+4=2(3g+2)and a2-
2a=a(la-2)
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ACADEMY

Other Topics/Units this could appearin:

Substitution +  Expressions & substituting into simple
We can evaluate an expression or Examples: formulae o
formula by substituting (replacing) * Expand and simpilify
a letter or letters in the expression Work out the value of these expressions when n = 3. + Factorising
or formula with a number. *  Solving Equations
a) 2n b)n-3 c) 2n—-10 d) n2+2n +  Subject of Inequalities
Keyword/Skill Definition/Tips
—)o b) 2n means2xnNso2x3=46 b)3-3=0 :
o Variable A symbol for a number we do
C)2x3-10=6-10=—4 d) n2 means n x n so not know yet, it is usually a letter.
-— 3x3+2x3=9+6=15 Term Ei’rh.ero single number or a
variable, such as 4 orn or 3a or
by.
Factorised and Expression A mathematical statement
[N e e ™ ° ™ 4p +2g = 2(2p + Unfactorised written using symbols, numbers
p ] p q @p+q) or letters.
L L p e o L4 . Equation A statement showing that two

expressions are equal.

Formula Shows the relationship between
two or more variables.

“Two groups of Simplifying Collect ‘like terms’.

length 2p + q” Expressions | Be careful with negatives.
x2 and x are not like terms.
Substitute In algebra it means replacing
dp+49=4p+q letters with numbers.
Expand When we multiply a term across
You can see four groups of length p + q... abrackef, e.g.3(a+2)=3a+¢6
We can write an expression for the perimeter of Factorise The inverse of expand. When we
a shape in factorised and unfactorised form. e.g. Four § divide an expression by all
of common factors or terms, €.9. 69
+4=2(3g +2) and a? -

2a=a(la-2)
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ACADEMY

Forming Equations
You can create a range of equations using the model below:

r=2w

g—r=w

You can make a lot more equations
from this model!

Y7 Maths - Mastery: Unit 6 — Expressions, Equations and Inequalities (Part 2)

Keyword/Skill Definition/Tips

A statement showing that
two expressions are equal.

Equation

Making sure the value on the
left hand side of the equals
sign is the same as the value
on the right hand side (it
balances)

Preserving an
equation

When two things are equal

ie.10+3=15-2

Equality

Creating Inequdlities Yoy can create a range of inequadlities using the model above:

Equalityand  / ¥
. I Smi -Er.l p > g
Tl.ﬂ equality Illxl.arge.r$># I,*"I
p— I greater reater than
= > than ’,>,.d‘ gp equal
¢ not equal less less than g+2w <3r
than S or equal

Compares two values which
are not equal, showing which
one is greater than or less
than

Inequality

The distance of the outside
of the shape (add all the
sides together)

Perimeter

Other Topics/Units this could appearin:

+  Expressions & substituting into simple
formulae

«  Solving Equations

+ Subject of

+ Inequalities
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ACADEMY

Preserving Equations

[ We can use a known equation to form other }
related equations.

This is called persevering

an equation, making sure

3X9=10+17 what is on the left of the

| added 8 to each
expression.

[ 3X9+8=10+17+8 J

equals sign has the same

-

value of what is on the

| multiplied each right!

expression by 10.
o

10><3><9=10(10+17)}

Keyword/Skill Definition/Tips
Equation A statement showing that
two expressions are equal.
Preserving an Making sure the value on the
equation left hand side of the equals

sign is the same as the value
on the right hand side (it

Inequadlities with Shape

You can compare lengths of a shape using an
inequality

You can compare perimeters of shapes using an
inequality

r+2q+p | | 20q+n) |

balances)

Equality When two things are equal
ie.10+3=15-2

Inequality Compares two values which

are not equal, showing which
one is greater than or less
than

Perimeter The distance of the outside
of the shape (add all the
sides together)

ther Topics/Units this could appearin:
Expressions & substituting into simple
formulae
Solving Equations
Subject of
Inequalities
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SWEB Y8 Maths — Mastery: Unit 1 — Sequences

A set of numbers in a specific

order is called a sequenc

Each number in the
e.

This is an arithmetic sequence
because there is a common
difference between terms.

3, 7,
or \J

+4 +

Common
1 1" 1|5' °* difference = +4
4 +4

sequence is called a term.

Picture Sequences

Sometimes sequences are given as pictures

or diagrames. ] )
m First term 1
1[I Il Add 4 eachtime
L o 1,5,9, ...
O C

First tferm 1

Add 2 each tim

1,3, 5, ...

AVAVAVAVAVAV,

Using Flowcharts

Write down 3.

¥

Add on 1.5.

Sequences can be generated using a flow chart.

Write down 3 and 4.

¥

T

Write down the answer.

Is the answer
more than 10?7

Add together the two
previous numbers.

3+

Write down the answer.

Is the answer
more than 1007

This flowchart gives the
finite sequence
3,4.5,6,7.5, 9,105

Yes
This flowchart gives the finite Yes
STOP sequence

3.4,7,11,18,29,47,76, 123

Keyword/Skill Definition/Tips

Variable A symbol for a number we do
not know yet, it is usually a
letter.

Term Either a single number or a
variable, such as 4 or n.

nth term A rule or formula to work out
any term in a sequence.

Expression A mathematical statement
written using symbols, numbers
or letters.

Equation A statement showing that two
expressions are equal.

Formula Shows the relationship between
two or more variables.

Substitute In algebra it means replacing
letters with numbers.

Finite Has a set end point.

Infinite Continues forever, and ever,

and ever, and ever...

Other Topics/Units this could appearin:

Crossover Unit 49 Sequences
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ACADEMY

Y8 Maths - Mastery: Unit 1 - Sequences

Continuing Seguences

Examples:
Find the next two terms in the following sequences:
a) 1,3,5,7,9, ...

11,13 (adding 2 each time)

b) 2,4, 816,32, ... 64,132

c) 50, 45, 40, 35, ... 30,25 (subtracting 5 each time)

d 1,1,2,35,8, ..
terms together)

This is called a Fibonacci sequence.

(doubling each time)

13,21 (adding the two previous

We can calculate a given term in a sequence

term formula with the given number.

by substituting (replacing) the letter n in the nth

Examples: Find the 10™, 50" and 35 terms:
a) 2n b) 2n-10

a) 2n means 2 xn

so 10Mterm=2x10=20
50t term =2 x 50 = 100
35t term=2x35=70

Find the
10th, 100th...
ferm

b) 2n-10means 2xn-10

so 10Mterm=2x10-10=10
50t term =2x50-10 =90
35t term =2x35-10=60

[ Step 1: Find the common difference J

[ Step 2: Write down that times table J

Step 3: Find what you need to
add/subtract

Common
difference = +4

15, ...

3, 7, 11,
\VAVAV)

+4 +4 +4
4 8 ]2 ]6 Write the 4x table
3, 7, 11, 15, ...
AR BN 12 16\

Subtract 1 from

-1 /-1 -1 -1 the 4xtable

11,7 157...

The nth term

an

an - 1

[ The nth term is 4n - 1 }

Keyword/Skill Definition/Tips

Variable A symbol for a number we do
not know yet, it is usually a
letter.

Term Either a single number or a
variable, such as 4 or n.

Nnth term A rule or formula to work out
any term in a sequence.

Expression A mathematical statement
written using symbols, numbers
or letters.

Equation A statement showing that two
expressions are equal.

Formula Shows the relationship between
two or more variables.

Substitute In algebra it means replacing
letters with numbers.

Finite Has a set end point.

Infinite Continues forever, and ever,
and ever, and ever...

Other Topics/Units this could appearin:

Crossover Unit 49 Sequences




<& st Y8 Maths — Mastery Unit 2 - Forming and solving equations Other Topics/Units this

could appearin:

*  Expressions & +  Factorising

Solving Equations substituting into «  Solving Equations
When we are solving equations, we need to figure out the value of the variable (usually a letter) in the equation. simple formulae + Subject of
* Expand and simplifys  Inequalities
Vc:;iable Equations work like a weighing scale; it Keyword/Skill Definition/Tips
, X must always be balanced/equal. If | :
7 - 5 % &% remove something from one side, | Variable /:Os;/lzrr\]t;(\jvl szO”nilsJTSkz(e;Hwi do
x = need to remove the same from the ot yet Y
other side to keep it balanced/equal. ener.
Term Either a single number or a
: variable, such as 4 orn or 3a or
One-Step Equations 6y.
This is a one-step equation. There is only one thing Expression | A mathematical statement
X +5=12 happening to the variable (add 5). written using symbols, numbers
or letters.
L Equation A statement showing that two
We can turn this info a bar model to help us expressions are equal.
X solve it: Formula Shows the relationship between
two or more variables.
12 This shows that x+5 is equal to (the same as) Simplifying | Collect ‘like terms’.
12. Expressions | Be careful with negatives.
x? and x are not like terms.
Substitute In algebra it means replacing
x letters with numbers.
If we take the 5 away from both Expand When we multiply a term across
7 bars we can see that x must be 7. Ve X +5=12 ~ a bracket, e.g. 3(a +2) = 3a + 6
5 -5 Factorise The inverse of expand. When
_ we divide an expression by all
\ X = 7 </ common factors or terms, e.g.
X = ? 6g +4=2(3g +2) and
a2-2a=a(a-2)




ORMISTON

swe Y8 Maths — Mastery Unit 2 - Forming and solving equations

ACADEMY

Two-Step Equations

2x+12 =28

>
I
Co

This is a one-step equation. There are two things happening to
the variable (multiply by 2 and add 12).

This shows that 2x+12 is equal to (the same as) 28.

Take the 12 away from both bars.

We can now see that 2 x's are equal (the same as) to 16.

| have 2 x’s so | divide 16
by 2 to work out the
value of 1 x.

Other Topics/Units this

could appearin:

*  Expressions & +  Factorising
substituting into + Solving Equations
simple formulae + Subject of

* Expand and simplifys  Inequalities

Keyword/Skill Definition/Tips

Variable A symbol for a number we do
not know yet, it is usually a
letter.

Term Either a single number or a
variable, such as 4 or n or 3a or
éy.

Expression A mathematical statement
written using symbols, numbers
or letters.

Equation A statement showing that two
expressions are equal.

Formula Shows the relationship between
two or more variables.

Simplifying Collect ‘like terms’.

Expressions

Be careful with negatives.
x? and x are not like terms.

X +12=28~

212 -12

> 2x=16<

2

+2
S X =8 <

Substitute In algebra it means replacing
letters with numbers.

Expand When we multiply a term across
a bracket, e.g.3(a+2)=3a+ 6

Factorise The inverse of expand. When

we divide an expression by all
common factors or terms, e.g.
6g +4=2(3g +2) and
a?2-2a=a(a-2)
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ACADEMY

Forming and Solving Equations (challenge)

Here is a four sided shape. The sides are labelled algebraically. We can find an expression
for the perimeter by adding up the sides (like we do when finding the perimeter with
numbered sides).

9
o =
X
o
Q
$6 L
a

Here are my sides laid out next to each other ready to add together (you don’t have to
draw the sides, it's the labels that are important).

a +(a+6) + (a+15) + (a+6) = 4a + 27 (simplified)

| may then be told that the perimeter of my shape is actually 60cm. | can use this
information to form an equation

40+ 27 = 60

This is a two-step equation that you can then solve (use the section on ‘two-step
equations’ on the previous page).

Other Topics/Units this

could appearin:

*  Expressions & +  Factorising
substituting into +  Solving Equations
simple formulae + Subject of

*+ Expand and simplifys  Inequalities

Keyword/Skill Definition/Tips

Variable A symbol for a number we do
not know yet, it is usually a
letter.

Term Either a single number or a
variable, such as 4 or n or 3a or
6y.

Expression A mathematical statement
written using symbols, numbers
or letters.

Equation A statement showing that two
expressions are equal.

Formula Shows the relationship between
two or more variables.

Simplifying Collect ‘like terms’.

Expressions

Be careful with negatives.
x? and x are not like terms.

Substitute In algebra it means replacing
letters with numbers.

Expand When we multiply a term across
a bracket, e.g.3(a+2)=3a+ 6

Factorise The inverse of expand. When

we divide an expression by all
common factors or terms, e.g.
6g+4=2(3g +2) and
a?2-2a=a(a-2)
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ACADEMY

Inequality Symbols

- =

4 v O
larger smaller |
N Y,

equal greater greater than

than

,-f""' or equal

I th less than
essThan &8 or equal

Examples:

Keyword/Skill Definition/Tips
Integer Whole number including 0 and
negative numbers. No
fractions or decimails.
Inequality Compares two values showing

if one is less than, greater than
or not equal to each other.

Greater than

One number is BIGGER than
another number.

< .
X 5 means X 1s Iess ThC]ﬂ 5 Other Topics/Units this could appear in:

> : * Numbers, powers, roots, decimals and rounding
P= 100 means p s greGTer fhan or » Expressions and substituting into a formula

equol to 100 + Expand and simplify
+ Solving equations

y>-2 meansy is greater than -2

Less than One number is SMALLER than
another number.

Equal to Two things have the SAME
value.

Equation Says that two things are equal.
(1+1=2).

Satisfy A value that solves an
equation. E.g. 2x+1=9
x =4 50 x=4 satisfies the
equation.

Variable A symbol for a number we
don't know yet, usually a letter.

Coefficient A number used to multiply a
variable. E.g. y=6éxy. yis
the variable and 6 is the
coefficient.

Inverse Opposite of (i.e. xand +, + and
)

Solve Find all of the values that

saftisfy the inequality.
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ACADEMY

Inequadlities Symbols on a Number Line

< Open O Left
> Open O Right
< Closed ‘ Left
> Closed @ Right

We use open and/or closed circles to represent inequalities on a number line. A closed circle means that the number is
included in the represented group of values. An open circle means that the number is not included in the represented
group of values.

Examples:
x> 5 r<-1
8, Iy = - —_—  ——
1 0 1 2 3 4 5 & T 8B 9 10 8 -T 6 5 4 3 2 10 1 2
x23 x<5

4

Keyword/Skill Definition/Tips

Integer Whole number including 0 and
negative numbers. No fractions
or decimails.

Inequality Compares two values showing
if one is less than, greater than
or not equal to each other.

Greater One number is BIGGER than

than another number.

Less than One number is SMALLER than
another number.

Equal to Two things have the SAME
value.

Equation Says that two things are equal.
(1+1=2).

Satisfy A value that solves an
equation. E.g. 2x+1=9
X =4 50 x=4 satisfies the
equation.

Variable A symbol for a number we
don’t know yet, usually a letter.

Coefficient A number used to multiply a
variable. E.g. éy=6xy. yisthe
variable and 6 is the
coefficient.

Inverse Opposite of (i.e. xand +, + and
)

Solve Find all of the values that saftisfy

the inequality.
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ACADEMY

Solving Inequalities ﬁ Keyword/Skill Definition/Tips
Solving an inequality means finding the range of values that l 2 Product Means multiply
satisfy the inequality. b b b Prime number | A number that has exactly two
- ; factors
| 29 I | Integer Whole number including 0 and
I B + 7 £ 22 negative numbers. No fractions
BN - | or decimas.
We can also use bar models to form new Inequality Compares two values showing if
| 22 —7 =15 ‘ p inequalities. one is less than, greater than or
¥ X X 5x <15 not equal fo each other.
e.g. 2b < 2a Greater One number is BIGGER than
5 X< 5 Ac+7=2a0+7 than another number.
3b>4c Less than One number is SMALLER than
another number.
Equal to Two things have the SAME value.
Equation Says that two things are equal. (1
+1=2).

We can use bar

dels 1 Satisfy A value that solves an equation.
2x+3 <17 2x+3<x+17 models to AT

represent the = o
size of each side X =4 sg x=4 satisfies the
of the inequality. : equation. ’
This allows us to Variable A symbol for a number we don’t
see how much know yet, usually a letter.

x<x+14 bigger/;mqller Coefficient A number used to multiply a
one side is

variable. E.g. éy=6xy. yisthe

compared to variable and 6 is the coefficient.

the other. It also

allows us to Inverse Opposite of (i.e. xand +, + and -)
make changes

to both sides in Solve Find. all of ’rhe values that satisfy
order 1o solve the inequality.
the inequality.
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ACADEMY

Keyword/Skill

Definition/Tips

Horizontal & V

-4

ertical Lines

> |

Before starting work with linear graphs,
you may find it useful to look back at the
Y7 Mastery Unit 10 - Coordinates
knowledge organiser

Linear & Non-Linear Graphs

Horizontal line example:

Looking at the coordinates for line A

(-2.3) (-1.3) (0.3) (1.3) (2.3)

Every y-coordinate equals 3! Therefore the
equation of line Aisy =3

Vertical line example:

Looking at the coordinates for line A

(4.-1) (4,0) (4.1) (4.2) (4.3)

Every x-coordinate equals 4! Therefore the
equation of line Aisx =4

Linear Graphs

/ S —

/

Coordinate

Written in pairs as (x, y). The first
term is the x-coordinate
(movement left or right). The
second term is the y-coordinate
(movement up or down)

/

AN

AXis/Axes

The lines that make up a graph.
The y axis is the vertical line. The x
axis is the horizontal line.

X-coordinate

This is the first term written in a
coordinate, it represents where the
coordinate is on the x axis (x, y)

Y-coordinate

This is the second term writtenin a
coordinate, it represents where the
coordinate is on the y axis (x, y)

N\

Non-Linear Graphs

Linear Graph | A group of coordinates that form a
straight line

Origin The very middle of a graph, the
coordinate of (0,0)

Region The area of a graph that satisfies
an inequality

Gradient How steep aline is

Y-Intercept The point where a line or a curve
crosses the y-axis of a graph

Satisfy A value (or values) that solve an
equation or fits an inequality

Plane A flat, two-dimensional surface

Horizontal Going from side to side

Vertical Going in an up-down direction

Other Topics/Units this could appear in:

«  Straight-line Graphs

. Transformations

. Similarity and Congruence in 2D
. Coordinate Geometry
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The graph here crosses the y-axis = K 0 7
at -3. The coordinate would be |

(0.-3)

That means the y-intercept is -3.

The graph here crosses the y-
axis at 2. The coordinate would
be (0,2)

That means the y-intercept is 2.

y=4x , S, Y=2x
Gradient =4 | / Gradient =2
| 6 4
A
[ B /
-5 y ]
C(
4 J
r r y = 3X
3 Gradient=3
2 ! Y
1 ' A
] 2 3 4 5

Keyword/Skill Definition/Tips
. . Coordinate | Written in pairs as (x, y). The first
The Y-Intercept Gradient of a Line term is the x-coordinate
The y-intercept is where the graph crosses the y-axis. The gradient is the rate of change of y with respect to x. (movement left or right). The
The x-coordinate where a graph crosses the y-axis is It tells us how much y increases or decreases when x is second term is the y-coordinate
always 0. increased by 1 (movement up or down)
. Axis/Axes The lines that make up a graph.

The y axis is the vertical line. The x
axis is the horizontal line.

X-coordinate

This is the first term written in a
coordinate, it represents where the
coordinate is on the x axis (x, y)

Y-coordinate

This is the second term writtenin a
coordinate, it represents where the
coordinate is on the y axis (x, y)

Linear Graph | A group of coordinates that form a
straight line

Origin The very middle of a graph, the
coordinate of (0,0)

Region The area of a graph that safisfies
an inequality

Gradient How steep aline is

Y-Intercept The point where a line or a curve
crosses the y-axis of a graph

Satisfy A value (or values) that solve an
equation or fits an inequality

Plane A flat, two-dimensional surface

Horizontal Going from side to side

Vertical Going in an up-down direction

Line A represents the relationship y = 4x

When x increases by 1, y increases by 4. That means the

gradient of Line A is 4.

Other Topics/Units this could appear in:
*  Straight-line Graphs

. Transformations

. Similarity and Congruence in 2D

. Coordinate Geometry
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We can represent this as:
y=2x + 1

What this equation means, is you take the x-
coordinate and multiply it by 2 (the gradient) then
add 1 to get the y-coordinate.

Eg.x=1 (2x1)+1=3 y=3 (1,3)

x increases by 1

-1

Keyword/Skill Definition/Tips
Coordinate | Written in pairs as (x, y). The first
Finding the Equation of the Graph/Line term is the x-coordinate
(movement left or right). The
We can find the equation of the graph by looking for second term is the y-coordinate
the gradient and the y-intercept of the line. 5 (movement up or down)
AXis/Axes The lines that make up a graph.
The y axis is the vertical line. The x
axis is the horizontal line.
X-coordinate | This is the first term written in a
When x ipcreoses by 1, y increases by 2. That means 4 ' y increases by'2 coordinate, it represents where the
the gradient of the line is 2. - - coordinate is on the x axis (x, y)
Looking where the graph crosses the y-axis (when the - - Y-coordinate | This is the second term writtenin a
x-coordinate equals 0) then we can see the | 2 = 2Gradient =2 coordinate, it represents where the
y-interceptis 1. 3 ! coordinate is on the y axis (x, y)

Linear Graph [ A group of coordinates that form a
straight line

Origin The very middle of a graph, the
coordinate of (0,0)

Region The area of a graph that satisfies
an inequality

Gradient How steep alineis

Y-Intercept The point where a line or a curve
crosses the y-axis of a graph

Satisfy A value (or values) that solve an
equation or fits an inequality

Plane A flat, two-dimensional surface

Horizontal Going from side to side

Vertical Going in an up-down direction

Other Topics/Units this could appear in:

«  Straight-line Graphs
Transformations
. Similarity and Congruence in 2D

.

Coordinate Geometry
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Rounding Using a Number Line

221.2
22 23
57218
57210 l 57220
l I |

57218 rounded to the nearest 10 is 57220

20.581

|
20.5

S

20.581 rounded to 1 decimal place is 20.6

Using this number line | can see that 22.2 is nearer to 22 than 23.

22.2 rounded to the nearest integer is 22.

57218

572001

57218 rounded to the nearest 100 is 57200

57300

20.581

| |
20.58 20.59

S

20.581 rounded to 2 decimal places is 20.58

Keyword/Skill Definition/tip

Integer A whole number including 0 and negatives.
No fractions or decimals.

Number Describes a quantity or value. Can be a
word or figure or symbol.

Digit A symbol used to show a number.

Place Value The value of where a digit is in the number.

Decimal place The position of a digit to the right of a

decimal point.

Significant Figure Numbers beginning with the left non zero
digit OR beginning with the first non
zero digit affer the decimal point if there

are zero digits.

Rounding Change a number to a more convenient
but less accurate value.
Inequality ‘Not equal to’ Inequality symbols

# not equal to, =2 greater than or equal o, <
less than or equal to, > greater than, < less
than, = equal to.

Error interval A range of values that could be taken

before rounding/tfruncating.

Estimation/ estimate To make an approximate or rough

calculation based on rounding.

How close a measured value is to the
actual (true) value

Accuracy

Approximate Not exact, but close enough to be used

Other topics/Units this could appear in:

 Numbers, Powers, Roots, Decimals
and Rounding

«  Rounding & Error Intervals

* Upper & Lower Bounds
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Significant Figures
Significant figures are the first non zero digit in the number

15t significant figure /

0.000457.

N :
1 significant figure —»2899 05/ g™ significant figure

2809.05 has 6 significant figures

319 significant figure

314 significant figure

0.000457 has 3 significant figures

Keyword/Skill Definition/tip

Integer A whole number including 0 and negatives.
No fractions or decimals.

Number Describes a quantity or value. Can be a
word or figure or symbol.

Digit A symbol used to show a number.

Place Value The value of where a digit is in the number.

Decimal place The position of a digit to the right of a

decimal point.

Significant Figure Numbers beginning with the left non zero
digit OR beginning with the first non

zero digit affer the decimal point if there
are zero digits.

Rounding Change a number to a more convenient
but less accurate value.

Rounding to Significant Figures

Round 78032 to 1 significant figure

78032
| | | | | | | | | \l | | |
| I | | | | | | | | | | |
0,000 80,000
1 significant figure 1 significant figure

78032 is closer to 80000

78032 rounded to 1 significant figure is 80000

Round 0.04521 to 2 significant figures

0.04521
| [ | Il | | | | | | | | |
| 1 ] ] ] I | | | | | 1 |
O.O4T5 0.46
2 significant figures 2 significant figures

0.04521 is closer to 0.45

0.04521 rounded to 2 significant figures is 0.45

Inequality ‘Not equal to’ Inequality symbols

# not equal to, =2 greater than or equal o, <
less than or equal to, > greater than, < less
than, = equal to.

Error interval A range of values that could be taken
before rounding/tfruncating.

Estimation/ estimate To make an approximate or rough
calculation based on rounding.

Accuracy How close a measured value is to the
actual (true) value

Approximate Not exact, but close enough to be used

Other topics/Units this could appear in:

 Numbers, Powers, Roots, Decimals
and Rounding

* Rounding & Error Intervals

* Upper & Lower Bounds
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b Keyword/Skill Definition/tip
Error Intervals Integer A whole number including 0 and negatives.
No fractions or decimals.
A number, x, rounded fo the nearest 10 is 80 Number Describes a quantity or value. Can be a
word or figure or symbol.
85 rounds to 90 Digit A symbol used to show a number.
74 rounds to 70 . : © 4
so it can’t be
Place Value The value of where a digit is in the number.

so it can't be
that
fhat 75 76 77 78 79 80 81 82 83 84
| 1 | |

o | I [ I

/70 80 20

These numbers all round to 80, so these are the range of values that the number could have been.

We can represent this as an inequality: 75< x<85

Decimal place The position of a digit to the right of a

decimal point.

Significant Figure Numbers beginning with the left non zero
digit OR beginning with the first non
zero digit affer the decimal point if there

are zero digits.

Estimating
We use estimation to make challenging calculations simpler. It also helps check answers to determine how
accurate they are.

Example: ~

By rounding to the nearest 10, estimate
83 + 29 +36:

83 +29 +36 =150

|1

80 +30+40=150

This means ‘approximately equal to’

Rounding Change a number to a more convenient
but less accurate value.
Inequality ‘Not equal to’ Inequality symbols

# not equal to, =2 greater than or equal o, <
less than or equal to, > greater than, < less
than, = equal to.

Error interval A range of values that could be taken

before rounding/tfruncating.

Estimation/ estimate To make an approximate or rough

calculation based on rounding.

How close a measured value is to the
actual (true) value

Accuracy

Approximate Not exact, but close enough to be used

Other topics/Units this could appear in:

 Numbers, Powers, Roots, Decimals
and Rounding

«  Rounding & Error Intervals

* Upper & Lower Bounds
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Pulmonary artery

Vena Cava Pulmonary vein

Right Atrium Left Atrium
Valves

Right Ventricle Left Ventricle

Septum

How the lungs are adapted to allow rapid
gas exchange between the alveoli and
blood in the capillaries:

1 Many alveoli/ alveoli walls folded provide a
large surface area

2 Many capillaries provide a large surface
area

3 (So) fast diffusion

) — Yy
right atrium 17 Body

Right Aorta
ventricle
r
Ty oy
Pulmonary Left
artery ventricle

F

e ™ IS ™
Pulmonary
Lungs q i
B! R Left atrium

4 Alveoli or capillary walls/ epithelium/ lining
are thin/ short distance between alveoli and
blood

5 Flattered epithelium

6 (So) short diffusion pathway

7 (So) fast diffusion

8 Ventilation/ circulation

9 Maintains a diffusion/ concentration
gradient

10 (So) fast diffusion

word equations for aerobic &

anaerobic respiration
Glucose + Oxygen

—

Glucose Lactic acid + Energy

—

Carbon dioxide + Water

Describing what happens to the lungs, ribs and diaphragm using a bell jar

during inhalation and exhalation:

Inhalation: Diaphragm goes down/up - Ribs expand/move inwards - Lungs

get bigger/smaller

Exhalation: Diaphragm goes down/up - Ribs expand/move inwards - Lungs

get bigger/smaller

Vessel Structure Oxygenated/ Special features
deoxygenated
blood
Arteries Large vessels Carry oxygen Thick walls
rich blood Small internal
lumen/ high
pressure
Veins Smaller than Carry Thin walls/ large
arteries/ bigger deoxygenated | internallumen/
than capillaries blood valves to prevent
backflow
Capillaries | The smallest of Waste rich One cell thick
the blood vessels | blood
Similarities How is anaerobic
Independent Variable: between aerobic respiration
and anaerobic different?
One variable we respiration
change Releases energy Anaerobic
respiration
produces lactic
acid

Dependent Variable:

One variable we are
measuring

Uses glucose

Anaerobic does
not require
oxygen

Control Variable:

Happensin cells

It produces less
energy

One variable we keep
the same

It creates an
oxygen debt
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Unicellular

An organism that is small and contains one cell only.

&
PROKARYOTES

oldest cell type
small and simple

lack nucleus
lack organelles

single-celled

BOTH

have DNA
have ribosomes

have cytoplasm

have plasma
membrane

e

EUKARYOTES

evolved from prokaryotes

larger and more complex
contain nucleus

contain organelles

single-celled or multicellular

Multicellular

Made from more than one type of cell grouped together.

Multicellular Unicellular

Small surface area:
volume ratio

Large surface area:
volume ratio

Surface area

To area on an objects surface that is exposed to the
environment.

Slow rate of diffusion Fast rate of diffusion

Complex structure Simple structure

Volume The amount of space that a substance or object has
enclosed.

Diffusion The movement of a substance from a place of high
concentration to a place of low concentration.

Concentration |The amount of particles in a given volume.

Relies on transport Relies on diffusion for

Decomposition

The process of rotting.

D

systems for nutrients nutrients Decay Where microbes (such as bacteria and fungi) feed on
- : dead or waste material from plants and animais.
e.g. Animails e.g. Bacteria Aerobic Requiing oxygen.
Anaerobic Not requiring oxygen.
Aerobic (with O,) respiration of Yeast: Respiration A reaction our bodies conducts to release energy to keep
Glucose + Oxygen - Carbon Dioxide + Water us alive.
S Fermentation The process where yeast respires anaerobically and
glucose is converted into alcohol.

Ethanol An alcohol produced by the process of Fermentation.

Anaerobic (without O,) respiration of Yeast:
FERMENTATION
Glucose - Carbon Dioxide + Ethanol

Bacterium Cell
membrane
Soft Cell Chromosomal
Wall s W— " DNA
Plasmid — j*)
DA //\
A Flagellum
Structure Function
Flagellum Helps the bacteria move
Soft Cell Wall Strengthens the cell
Chromosomal Carries most of the genetic information
DNA

Cell membrane

Controls the movement of substances in and

out of the cell

Plasmid DNA

Carries spare genetic information. Mainly
used for genetic modification

What conditions do microbes need to grow?
OXYGEN

weT

+ Oxygen
* Right temperature
* Moisture

Why are decomposers important?

+ They remove dead organisms and animal waste.

» They recycle nutrients/carbon, making them
available for other organisms.

Ways to reduce decomposition:
Drying- Takes away the moisture so boc’rerlo
cannot grow
Pasturisation- Heating up the food so gﬂi
The bacteria are killed

Freezing- Takes away the warmth so bacteria are
slower to respire.

Micro-organism

A very small organism that cannot be seen by the naked
human eye.

Nucleus

An organelle that contains DNA of a cell.

Cell membrane

Part of a cell that controls what comes in and out of a cell.

Flagellum Part of a bacteria cell that enables the bacterium to
move.

Chromosomal | Main section of DNA within a bacterium.

DNA

Plasmid DNA Small rings within a bacterium that contains non-essential
DNA.

Specialised When a cell develops adaptations to make it more
efficient at doing its role.

Prokaryote An organism without a frue nucleus.

Eukaryote An organism that contains a frue nucleus.

Decay Where microbes feed on dead or waste materials from
plants or animals.

Ecosystem Includes all living things interacting with each other.

Temperature How much heat energy is in something
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Bacteria

Viruses

Fungi

Keyword

Definition

Size: 1/1000 mm

Structure: Bacteria are single-celled
organisms. Their genetic material is
not contained within

a nucleus. Some cause disease, but
many are useful.

Reproduction: Bacteria reproduce
very quickly. Two can very quickly
become four, then eight and so on.
Diseases they can cause:
Tuberculosis, Tetanus, Sore throats,
Food poisoning and Bacterial
Meningitis

Size: 1/1,000,000 mm

Structure: A virus is a simple
organism that does not display all
the characteristics of a living thing. It
is made up of a protein coating and
some genetic material.
Reproduction: Viruses can only grow
and reproduce within other living
things. Viruses change and adapt to
their environment very quickly.
Diseases they can cause: Flu,
Mumps, Chickenpox, Smallpox, Viral
Meningitis

Membrane
envelope

Spikes

Size: Some fungi can actually be
seen with the naked eye, others are
slightly bigger than bacterial cells.
Structure: Fungi have the most
complex structures of all the
microbes. They feed off other living
things.

Reproduction: Fungi can reproduce
sexually or asexually (producing
spores)

Diseases they can cause: Athletes
foot, Onychomycosis, Fungal sinusitis

Health

can be defined as 'complete physical, mental
and social wellbeing and not only the
absence of illness or infirmity’.

Disease

Can be grouped into two categories;
communicable which can be fransferred from
one person to another and non
communicable which cannof.

Fitness

Can be defined as 'the ability o meet the
demands of the environment.

Smoking

Smoking is very harmful to health. Tobacco
smoke contains many harmful substances.

Cells

The basic building blocks of life.

Pathogen

An organism that can cause disease.

Microbes

Microscopic organisms that can either be
beneficial or cause harm. They include
bacteria, viruses and fungi.

Defence

The action of defending from or resisting
attack.

How do microbes enter the body?

Method of Transmission

Microbes can enter the body in many different

places:
eyes

nose

Explanation

Transmission

The fransfer of disease from one place to
another.

Food and water

Uncooked and contaminated food
can contain microbes

Air Microbes can fravel through the air.
Airborne droplets A cough or a sneeze releases Animals Some animals can fransfer disease to each
millions of microbes into the air other or fo humans.
Touch Disease can easily be spread through

touching surfaces, objects or other people

Animals

Insects can carry harmful microbes
from one human to another

Contamination

Making something impure, in this case with
pathogen:s.

Direct contact

This includes kissing, holding hands
and sexual contact

Mother to child

Some diseases can pass to the
unborn baby through the placenta,
or through breastmilk

Immune

To be resistant to a particular infection due to
the presence of specific antfibodies in the
blood.

Immune system

The body's second line of defence to
stop or minimise infection.
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What is the Immune System?

Sometimes microbes can get through our first line of defence and can enter the
blood.

Your blood contains white blood cells which form part of our Immune System
These also help the body defend itself against disease. They work in 2 ways:
1. Producing antibodies

2. Engulfing pathogens

What do White blood cells do?

If harmful microbes enter the body the immune system produces white blood
cells to help defend it from microbes.

Some white blood cells can destroy microbes by engulfing them.
Some white blood cells are able to produce chemicals called antibodies. These

pair with matching antigens on the surfaces of microbes and so help the white
blood cells to engulf microbes.

bacteria

antigen

white blood
cell

How can Lifestyle contribute to disease?

)

Carbon monoxide — A poisonous gas that reduces the amount of oxygen
that red blood cells can carry around the body.

Nicotine — An addictive drug that affects the central nervous system. It
increases the heart rate and narrows the blood vessels, causing high blood
pressure.

Tar — A brown, sticky substance that consists of tiny particles and is formed
when tobacco smoke condenses. Tar paralyzes tiny hairs in the airways
called cilig, this stops them removing mucus easily.

Alcohol is a chemical called ethanol, found in alcoholic drinks.

This legal drug can lower your inhibitions and affect your judgement.
Alcohol is seen by many people as a socially acceptable drug, however
this doesn’t mean that it can’t be harmful.

It is an addictive drug that can have serious consequences.

Alcohol is a depressant, it works by slowing down the nervous system and
relaxing the brain. Alcohol can reach the brain in just one minute. Too
much alcohol can damage the brain cells and cause depression.

The liver breaks down alcohol to remove this toxic drug from the body. Too
much alcohol can damage the liver leading to cirrhosis or cancer.

A drug is any substance that changes the way the body or mind works.
Paracetamol, alcohol, nicotine, cannabis and ecstasy are all examples of
substances that can be called drugs.

Some drugs are beneficial, like asthma drugs, but others like alcohol and
nicofine in cigarettes can cause harm.

Drugs can be categorized into over-the-counter drugs, prescription drugs,
recreational drugs and illegal drugs.

What is a Heart Transplant?

A heart fransplant is an operation to replace a damaged or failing heart with a
healthy heart from a donor who's recently died.

It may be recommended when a person's life is at risk because their heart no
longer works effectively.

Solvents such as aerosols, glues, paint and cleaning fluid can make
people feel uninhibited, happy and dizzy if inhaled.

Inhaling solvents can cause vomiting and blackouts. People can also
suffer fatal heart problems, even when solvents are taken for the first time.
Long term solvent abuse has been shown to damage the brain, liver and
kidneys.
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Planta

l REPRODUCTION

| |
l SEXUAL l ASEXUAL
| .

One The new

Sex cells The organism

: : organism organism
from a male mhen@s ) hilesa e
and female characteristics Eby Eericticaly
parent will from both I : .
ne) of identical
fuse. parents (c i?s :I%o e

Flower structure and functions:

Stamen

Anther

Filament

Carpel

Stigma

Style

Ovary

Produces pollen.

The female reproductive
part of aplant

The male reproductive part
of aplant

A stalk-like structure that
supports the anther.

The stalk that supports
the stigma

The cross section of a leaf:

Spongy
mesophyll

Stomata

Cuticle
Epidermis

Palisade
mesophyll

Vein

Lower
Epidermis

Contains the
female gametes

Covered in a sticky fluid,
which catches the pollen

the parent.

+ The word nutrition describes the
process in which a plant gets its
nutrient ions from the soil

+ Plants make their own food through a
process called photosynthesis

+ Most plants use energy from sun and
store their sugars as starch

Wind
Bursting
Shakers
Water

Methods
of seed
dispersal

Catching a lift

Animal lift

Drop and roll

The process of fertilisation that takes place in flowering plants:
Pollen tube grows out of pollen grain and down through the style

1.

2.

Pollen nucleus moves down the pollen tube
Pollen nucleus joins with the ovule nucleus.

Fertilisation takes place and a seed will form.

carbon

dioxide * water =——3 glucose + oxygen

lightenergy

chlorophyll

Anther
} Stamen
Filament

Petal
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Y8 Infroduction to Portraiture KNOWLEDGE ORGANISER
Developing tonal drawingskills by studying the work of
Sandra Chevrier.

Creating a personal response -final outcome.

How do | develop my knowledge of tonal drawing

techniques?

* Know howto create different tonal values.

+ Smooth shading.

+ Gradient blending.

* Directional shading.

« Surface detail.

* Understand the correct position of facial featuresby
creating a series of studies.

What needsto be included to create a good copy of
Sandra Chevrier's work?

+ Successful combination of colour and tone.

+ Readlistic facial features.

» Carefully applied collage.

A good artist copy should show a clear understanding
of the artist's use of materials and techniques.

How do | develop my ideasto create aresponse to

Sandra Chevrier'swork? :

* Use the idea behind her work to inspire you.

* Use her composition style you like best,

+ Make your work as detailed as possible.

* Use acollage material that links to your chosen
celebrity.

A good artist response should link to the ideas and

inspiration behind the artist's work and use her

Expert modellin
example:

AI“ﬁSi’ response

Keyword

Definition

Analyse Examinein detail.

Tone Means the lightness or darkness of
something. This can be a shade orhow dark
or lighta colourappears.

Apply Put skills/knowledge/understanding into
action.

Directional Shading that follows the contours of the form

shading to create a 3D effect.

Gradient Blending

Is a visual technique of gradually
transitioning from one shade to another, or
one texturetoanother.

Finer Details

Record smallsurface details and textures.

Investigate Testthe qualities of materials, techniques or
processes through practical work.

Skilful Apply materials and techniques with ahigh
level of understanding, ability and control.

Refine Improve work taking into account feedback

and aims.

materials and techniques with skill and control.

Stretch and Challenge:

Compare and contrast her work with Research the meaning behind ‘The Caged'
the more fraditional work of Roy series by Sandra Chevrier to understand the

greater meaning behind her work.

Lichtenstein.

Wider Thinking:

Formal Elements

Keywords that can be applied and used to
describe 2D and 3D art and design.

Collage

Paper or other materialsgluedontoa
surface.




Y8 ARTDAY OF THE DEAD KNOWLEDGE ORGANISER
Developing ideas culturalresearch

Recording ideas.

Using resources —testing outideas/media.
Creating a personal response -final outcome.

ORMISTON

ACADEMY

Expert modelling
example:

What makes a successful Day of the Dead sugar skull
design?

» Culturalinformation/nationality/Inspiration.

« Exploration of links to symbols/natural forms.

Colour testing

Pattern testing
« Ownresponse.
What message is behind Day of the Dead artwork?
Good written research should include comrect art
vocabulary and your own opinion of the work.

What needsto be included to record my own ideas?
» Realistic tonal drawings.

* Flowers/insects/skulls

* Pattern developments.

Good observational drawings should show a clear
understanding of tonal shading/gradients/directional
shading and detail.

How do | develop my ideasto create aresponse to

Day ofthe Dead cultural art? :
* Use the ideas behind the work to inspire you.
« Combine symbols and patternsin a creative way.

* Use harmonious colour wash paint techniques
successfully.

A good artist response should link to the ideas and

inspiration behind the work and use similar materials

and techniques with skill and control.

Pattern/colour testing//Own response

Stretch and Challenge:
Use and combine materials and
techniques with a high level of skill
and control.

Wider Thinking:
Watch Disney’s Pixar film ‘Coco.’

Keyword Definition

Dia De Muertos Mexican for the celebration Day of the
Dead

Culture The customs and rituals of a group of
society.

Tradition A ritual or belief that is passed down
from generation to generation.

Ofrendas The shrines that families create to
honour their relatives.

Colour Colourin Mexican culture has

meaning and symbolism. Colours are
purposely picked for their different
meanings.

Composition

Composition is how shapes and
images ate arranged to create
harmony.

Investigate Test the qualities of materials and
techniques through practical work.
Skilful Apply materials, techniques and
processeswith a high level of
understanding, ability and control.
Refine

Improve work taking into account
feedback and aims.

Formal Elements
Colour, pattern,
shape, tone.

Key words that can be applied and
used to describe 2D and 3D art and
design.

Harmonious
colour:

Harmonious colours sit next to each
other on the colourwheel and often
link to nature.
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Keyword

Definition

Analyse

Analysis is the process of
breaking a topic or substance
into smaller parts in order to gain
a better understanding of it

Gradient

Gradation in art is a wisual
technique of gradually
transitioning from one colour to
another, or from one shade to
another, or one texture to
another.

Soft
Sculpture

3D Art made from fabric.

2.The end of the thread 1. Place the
goes to the left and spool of thread

_ ) “\ i | hooks around the top at the topright

o Baess here

Ay /I/ s
\ '“m.‘ % "'.: -—:-‘, ] '. 4 . ¢ A
L4 .5

3.The thread c_uin
hooks arcund '
the gap here

1

Photiograph OF |
mal Cushion

- =a s T S IR SIS TR N et

&6889@

Responding to the work of other artists is a
great way to generateideas. ... Starting with a
direct response showing theirunderstanding of

5.The thread movesdown from the lever
and getsthreaded through the needle

the ideas and aesthetic of an artist, students
can laterleap off in creative ways.

Analogous

Colours that are next to each
other on the colour wheel.

Influence

Something or someone
that influences a person or
thing. then, has an influence on
that person or thing.

Moodboard

An arrangement of images,
materials, pieces of text, efc.
intended to evoke or project a
particular style or concept.

Embroidery

Embroidery is the craft of
decorating fabric or other
materials using a needle to
apply thread or yarn.

Applique

Layering pieces of fabric that
are sewn or stuck on fo a larger
piece to form a picture/pattern.

Tie - Dye

A hand method of producing
patterns in  textiles by tying
portions of the fabric or yarn so
that they wil not absorb
the dye.
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Binary Search

Make sure the list is in order.

Take the middle number
Compare it to the number you are looking
for
IF it is the number you are looking for
o Celebrate and stop
ELSEIF it is larger than the one you are
looking for
o Take the numbers to the left of the
middle number
o Make them into a new list
ELSEIF it is smaller than the one you are
looking for
o Take the number to the right of the
middle number
o Make them into a new list
REPEAT from 1 with the new list UNTIL
you have checked and it is not in the list

Linear Search

Use the steps below to help you perform the
binary search.

1.
2.

3.

Take the first number
Check if it is the number you are looking
for
IF it is the number you are looking for
a. Celebrate and stop
ELSE
a. Move to the next number
b. Repeat from step 2

Bubble Sort

1. Take the first number and the second number from
the list

2. Compare them

3. IF number 1 > number 2 THEN
— Swap then

4. ELSE
— Do nothing

o

Repeat: Move along the list to the next pair
— IF no more numbers: Goto 1

—  ELSE: Goto 2

Until: you have moved through the entire list and not

Careers

« Software
development

*  Programing

+ Software Engineering

Computational
Thinking:

« Decomposition

« Abstraction

« Pattern
Recognition
« Algorithm

Insertion Sort

Number 1 in the list is ‘sorted’

The rest of the numbers are an ‘unsorted’ list

Compare the first number in the ‘unsorted’ list to each number in the sorted list

IF it is smaller, put it in than

ELSEIF it is larger, compare with the next
ELSEIF there are no more numbers in the ‘sorted’ list put it in the final position

REPEAT UNTIL all numbers in the ‘unsorted’ list are in the ‘sorted’ list

Merge Sort

Split the list into
individual lists:

Merge
individual lists

Merge sub-lists

Merge sub-lists

Input/

/ Output /
(STOfT/Eﬂd)

Process
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Logic Gate: A building block of a digital circuit.
They perform logical functions in a circuit and

use binary

« Software

Truth Tables: Display all possible
outcomes for that gate

development
« Programing
« Software

b —]

Not Gate

becomes 0

Inverts the input (0 becomes 1 and 1 J

\_ Engineering /)

IN_ouT_

/OR Gate N
Wait for either inputs to be 1 for
output to be 1
A ORB
e %
\
AND Gate

Both inputs to be 1 for output to be 1
A AND B

-

— 0 ]
1 0
A B __lOut
> 0 0 0
0 1 1
1 0 ]
1 1 1

)

v
- O — O
— O O O
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Logic CIRCUIT: A combination of
different logic gates used to
perform more complex tasks

Notation

The symbols used to describe
logic gates

A And

V. Or

- Not

EG. The notation below means
- P = A and b and not c. When
you draw the circuit the one in
brackets goes first

ﬁINT: when completing ’rhe\
inputs in a truth table — don't

forget to count up in binary,
to make sure you have all
possible inputs

A and B re inputs. There are
4 rows — starting from 0 make
the binary numbers 0,1,2,3.

8 — Computing - Logic Gates

GRANSISTOR: A tiny switch that D
activated by the electronic
signals it receives. The digits 1

CAA B (- C)

and 0 used in binary reflect the
\_On and off states of this. )

/How many rows do you\
need in a truth Table?

Number of Rows
— Znumber of inputs

Soforlinput=1x2=2
For2inputs=2x2=4

For 3inputs = (2x2)x2 =8
For 4 inputs = 2x2x2x2 = 16

1 1=2
2 22=4

D
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What needs to be included in a good freeze frame? :

» Facial expressions 233
+ Body Language
+ Gestures

+ Stillness ®

+ Silence ‘L

A good Freeze frame should freeze at a key moment
of the story.

What needs to be included in a good thought track? :

» Projection
* Vocal tone

* Focus

pRe)

A good thought track should be detailed.

“Ifeel............. because........... " @

What needs to be included in a good narration? :
+ Projection ))
* Vocal tone

* Focus

« Introduction of characters e
 Infroduction of setting Iﬂ

A good narration should be detailed and tell the
audience what has happened prior to the scene.

Steps to a good performance.

Collaborate as a group and
discuss initial ideas

}

Create a freeze frame o show
the audience your key idea.

1

Add one thought track per
character so the audience can
learn more about your
chcircuder.

;

As a group, decide on a narrator
and add a narration fo the start
of your scene to infroduce
characters and sefting.

Keyword

Definition

Body Language

Using posture or movement to
communicate how your character is
feeling.

Collaboration

Working together as a group to create
something new

Communication

Exchanging information through
speaking, writing, or non-verbal
communication.

Concentration

Focussing on the set task.

Facial Expressions

Showing your emotion through your
face.

Focus

Not laughing while you are on stage
and staying in character.

Freeze Frame

A frozen snapshot in fime showing a key
moment in a story.

Gestures

Using your hands to show the audience
where to look through pointing, waving
etc.

Narration

Telling the audience key moments of
the story. Example: settings and
characters.

Projection

Using a loud volume to make sure you
are heard.

Thought Track

Stepping out of a freeze frame and
telling the audience your character’s
inner thoughts.

Vocal Tone

Showing emotion through your voice.
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I wish | was our Sammy,
Our Sammy’s nearly ten
He’s got two worms and a catapult
An’ he’s built an underground den.
But I'm not allowed to go in there,
I have to stay near the gate,
‘Cos me Mam says I’'m only seven,
But I'm not, I’'m nearly eight!
| sometimes hate our Sammy,
He robbed me toy car y’know,
Now the wheels are missin’ an’ the top’s broke off,
An’ the bleedin’ thing won't go.
An’ he said that when he took it, it was just like that,
But it wasn’t, it was dead straight.
But y’can’t say nott’'n when they think y’ seven,
An vy’ not, y’ nearly eight.
| wish | was our Sammy, Y’ wanna see him spit,

Straight in the eye from twenty yards An’ every time a hit.

He’s allowed to play with matches,
And he goes to bed dead late,
And | have to go at seven,
Even though I’'m nearly eight.

What needs to be included in a good
monologue performance? ;" ..

+ Facial expressions @
« Accent g

+ Body Language PY
+ Gestures

+ Vocal Tone Q)) Jtﬂ

» Projection

A good monologue should explain to
the audience what the relationships
are in the play.

Steps to use Line Memory Recall.

While looking at it, repeat D»

Start with the first line.
it fen times.

Cover up the line and
afttempt to say it without
looking. If correct, move

to next step. If wrong,

start again.

Then add the second line

Say it ten fimes while . D»
looking at it.

[ Cover up the line and

Y )

attempt to say it without
looking. If correct, move
to next step. If wrong,
start again.

Keyword

Definition

Accent

A voice linked to a specific place.
Example- Liverpool

Body Language

Using posture or movement fo
communicate how your character
is feeling.

Collaboration

Working together as a group to
create something new

Communication

Exchanging information

Facial Expressions

Showing your emotion through
your face.

Focus

Not laughing while you are on
stage and staying in character.

Freeze Frame

A frozen snapshot in time showing
a key moment in a story.

Gestures

Using your hands to show the
audience where fo look through
pointing, waving etc.

Line Memory Recall

A technique used to remember
lines. Repeat one line with the rest
covered up.

Repeat until all lines are ]

\[ memorised.

f;,/’

Monologue A speech said by one person to
the audience.

Projection Using a loud volume to make sure
you are heard.

Prologue A speech at the beginning of the
play infroducing characters and
setting.

Vocal Tone Showing emotion through your

voice.




&dswe Year 8 Music - I've got Rhythm
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Key Words

PULSE - A regular BEAT that is felt throughout much music. Certain
beats of the pulse can be emphasised to establish regular pulse
patterns e.g.
1234,1234=a4-beatpulse
123,123 =a3-beat pulse (often called a WALTZ)
12,12,12=a2-beatpulse (often called a MARCH)

Music is my favourite:

d dd > Q7

RHYTHM - A series of sounds or notes of different lengths that create
a pattern. A rhythm usually fits with a regular pulse. Everyday
sentences can be used to create rhythms. The patterns made by
words create rhythms and this rhythm has a 4-beat pulse:
ACCENT - Emphasising or stressing a particular note or notes.
Accents affect the ARTICULATION and are shown with this symbol >
DURATION - The length of a sound - long/short
TEMPO - The speed of a sound or piece of music - fast/slow
TEXTURE - Layers of sound or how much sound is heard - thick/thin
STRUCTURE - The organisation of sound or how sounds are ordered
SILENCE - The absence of sound or no sound, shown in music by
RESTS.
RHYTHM GRID NOTATION - A way of writing down and recording
rhythms using boxes

A TIME SIGNATURE tells us how many beats ( and what types of

beats) there are in each BAR of music and is made up of two
numbers at the beginning of a piece of music

ToE Hurmber = HiOW
MARY BEEATS

Bottom Mumber =
TYWE OF BEAT

f49 =TWO CROTCHET b=ots per BAR

63 JJ 13

= g o MARCH

/4 = THREE CROTCHET beats per BAR

S dIdiddd]

=g o WALTE
/4 = FOUR CROTCHET beats per BAR

A dddddIdH

)

Bottoor Mumb-ers:
2 = Mlinim 4 = Crotchet & = Ouswer

BARS AND BARLINES

Dotk AR LINE [sad 1
HARLINE 4 .

.

Note Symbol Note Value

Semibreve
Minim
Crochet
Quaver
Pair of Quavers

4 beats
2 beats
1 beat
2 of a beat
2 X 2 beats = 1
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Year 8 Music — Keyboard Skills

Layout of a Keyboard/Piano

octave
A piano or keyboard is laid out with WHITE KEYS and Black Keys (see section G). C
is to the left of the two Black Keys and the notes continue to G then they go back to

A again. Motes with the same letter name/pitch are said to be an OCTAVE apart.
MIDDLE C is normally in the centre of a piano keyboard.

Left Hand/Right Hand (1-5)

Left Hand Right Hand

Treble Clef & Treble Clef Notation
A STAVE or STAFF is the name given to
the five lines where musical
notes are written.
The position of notes on the
stave or staff shows their PITCH
(how high or low a note is).
The TREBLE CLEF is a symbol used to
show high-pitched notes on the stave
and is usually used for the right hand on
a piano or keyboard to play the
MELODY and also used by high pitched
instruments such as the flute and viclin.
The stave or staff is made up of 5 LINES
and 4 SPACES.

Every Green Bus Drives Fast. Motes in
the SPACES spell “FACE"”
boo

L
I

A C E

o s ]

MNotes from MIDDLE C going up in pitch
(all of the white notes) are called a
SCALE.

Keyboard Chords

C Major

c E G
G Major
G (B D

F Major

F A C
ﬁilim III II III
A C E

Play one — Miss one — play one — miss
one — play one

Black Keys and Sharps and Flats

There are five different black notes or keys on a piano or keyboard. They occur in groups of two and three right up the keyboard in
different pitches. Each one can be a SHARP or a FLAT. The # symbol means a SHARP which raises the pitch by a semitone (e.g. C# is higher
in pitch (to the right) than C). The b symbol means a FLAT which lowers the pitch by a semitone (e.g. Bb is lower in pitch (to the left) than
B). Each black key has 2 names — C# is the same as Db — there's just two different ways of looking at it! Remember, black notes or keys

that are to the RIGHT of a white note are called SHARPS and black notes to the LEFT of a white note are called FLATS.
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Year 8 What is Design Technology?

Health and safety

4 . . . - - -
-~ > Des,gn C’nd Technology g,ves young people The MGChlr;e gu]?rgi Floor mdrklnfg Sdfeiy signs Table Vice
- -_— skills and abilities to engage positively with the Protects rom lying Creates a safe Wornlng gnd Hold your work
-~ ~ . debris zone around the adyvisory signs steady
— designed and made world and fo harness the machine
benefits of technology. —
Tools and Equipment ”ﬁﬁ‘#
P o
\ Marking knife %/C" Sand paper % T~ ',o'
e
= N “‘
Used to mark out / Used to remove
on woods cut lines from
wood Materials
Tenon Hacksaw Disk sander Pine wood High impact Oak wood Neoprene
A common wood polystyrene An expensive A thermal plastic
Used fo cut Used fo create a used in Cheap plastic used for | wood used for | that helps insulate
straight lines into nice finish on construction most plastic products furniture
wood wood
Coping Saw ~ File =
Used to cut / Used to shape
curved lines into / and flatten
wood : materials
Processes Keywords Tools and Machines Materials
- R R . Analysing Metal files Acrylic
Drilling Sqndlng . Gluing .cmd . Mq(klng out Investigating Pillar drill Aluminium
A process of Removing saw lines clamping Using different tools
. - S Collate Wet & dry paper Ferrous
cutting away to improve the Securely joining to mark out D | Vv ¢ Non.f
material fo create surface texture materials fogether measurements onto evelop OCL!U”‘ orrlner on- erri)us
a hole using adhesives materials Improve Wire woo Meta
Manufacture Laser Cutter Alloy
- Evaluate 2D Design Polyvinyl chloride (PVC)
Explain Bench Vice High-density
' Technical Junior Hacksaw polyethylene ABS
Dimension Safety ruler Copper
Tolerance Pliers Mild steel
Quality check Engraver Polypropylene
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+. Year 8 What is Engineering?

Engineering is the application of science and
math to solve problems. Engineers figure out
how things work and find practical uses for

scientific discoveries.

Tools and Equipment

Health and safety

Goggle Hair tie Vice
Protect your eyes Protect your Protect your hair Hold your work
clothing from entanglement steady

Scribe

Emery cloth

57

Used to scratch

/’

Used to shape

/ Used to mark out 0 Used to remove Materials
. on metals burrs and shar
' edges P Mild steel Aluminium Urea
A common A recyclable type A light-weight Formaldehyde
Junior Hacksaw Pillar Drill material used in of plastic metal used in drinks A plastic used for
[/ B construction cans tougher products
Used to cut into ‘r “ Used to cut ‘
metals . circular holes into il
|| materials. b ) % .
i S G [
Engraver File HQM - - =
4

designs info metal and flaften
materials
Keywords Tools and Machines Materials
Processes - - -
Analysing Metal files Acrylic
Sawing Filing Engraving Brazing Investigating Pillar drill Aluminium
Using a sharp Removing material To create a pattern Using heat to Collate Wet & dry paper Ferrous
serrated edge to to create a better or marking in a permanently joining Develop Vacuum former Non-ferrous
part materials surface finish or a material, using small pieces of material Improve Wire wool Metal
different shape scratches together Manufacture Laser Cutter Alloy
Evaluate 2D Design Polyvinyl chloride (PVC)
Explain Bench Vice High-density
Technical Junior Hacksaw polyethylene ABS
Dimension Safety ruler Copper
Tolerance Pliers Mild steel
Quality check Engraver Polypropylene
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Why do we need to eat a
balanced diet?

How do we achieve a balanced diet?
Eight Healthy Tips:

1. To achieve and maintain a
healthy body weight.

2. For growth and repair

o &)
e
N

3. To build a strong immune
system, prevent disease and
infection.

on
-

4. To provide energy.

/

5. To keep us warm.

A/

/|\

1. Base your meals on starchy foods.
2. Eat lofs of fruit and vegetables.

3. Eat more fish — including a portion of
oily fish each week.

4. Cut down on saturated fat and
sugar.

5. Eat less salt — no more than 4g a day
for children.

6. Get active and try to be a healthy
weight.

7. Drink plenty of water.

8. Do not skip breakfast.

\» b
AL
-° Y 4

Eatwell Guide: The Eatwell Guide outlines the recommendations for eating a healthy balanced
diet. The guide shows the different types of foods and drinks you should consume — and in what
proportions — every day or over a week. The Eatwell Guide shows how much of what you eat
overall should come from each food group

Green Section:

Fruit and vegetables are a
good source of vitamins,
minerals and fibre, needed to
build a strong immune system.

Yellow Section:

Starchy foods are a good
source of energy. Choose
wholegrains for increased fibre,
needed to prevent constipation

Purple
Section:
Fats, oils
and
spreads
should be
eaten
sparingly.
These do
provide
energy.

Pink Section:

Beans, pulses, eggs, meat and
fish are a good source of
protein needed for growth,
repair.

Blue Section:

Dairy foods provide a good
source of calcium and vitamin
D needed for strong bones and
teeth.
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There are seven major classes of nutrients: carbohydrates, fats, dietary fibre, minerals, proteins, vitamins, and water. These nutrient classes can be categorised a
either macronutrients (needed in relatively large amounts) or micronutrients (needed in smaller quantities).

Macronutrients:

Micronutrients:

Carbohydrates provides the body with energy. There are two main types, complex and Vitamin What we need it for Examples of where we get
simple. Complex carbohydrates give long lasting energy. These are found in foods such as it from
bread, pasta and cereals. Simple carbohydrates make blood sugar levels go up very — -
quickly. This provides a short burst of energy. These are found in ‘sugary; foods such as A Good vision and immune e b
cakes, jams and sweetfs. system @ LB BUTTER
Protein is needed for growth and fo repair cells. Protein is made up of amino acids. Proteins B Group Releasing energy from Meat
that are high in essential amino acids are called high biological value (HBV) proteins. These carbohydrates E?:, Al |%
are found in milk, cheese, fish, eggs, meat and soya beans. Proteins that are low in amino A,
acids are called low biological value (LBV) proteins. These are found in nuts, cereals and . .
oulses. C Fighting diseases and i % @
helping the body to
absorb iron
Fats are used by the body for energy. Fat also forms an insulating layer under your skin to - - - :
keep us warm and protect our organs, such as our kidneys. There are two main types of fat, D Along with calcium, it Oily
saturated and unsaturated. Foods such as meat, cheese and butter are high in saturated helps our body make @ a
fats. Foods such as seeds, fish and vegetable oils are high in unsaturated fats. We should strong bones and teeth
eat less safurafed fafs. Minerals What we need it for Examples of where we get
it from

Iron To make red blood cells Green leafy veg
Fibre helps food to move through our Keywords Definition fo carry oxygen around
bowels and prevent constipation. Foods the body %
such as vegetables, wholemeal bread Constipation EifﬁCUl”Y empting the Calciom Along with vitamin D

igh in fi owels , = &,
and beans are high in fibre. . Calciom helps make @
- Cholesterol A type of fat found in our strong bones and teeth @ A ° 2

Water is needed for lots of reasons, blood
keeping our body at the right
temperature, digesﬁng food, Iubricaﬁng ObeSITy OVGI’WGighT Consequences of a poor diet:

our bones and keeping us hydrated.

Water is found in drinks, fruits and
vegetables.

A disease that occurs when
your blood glucose (blood

Diabetes

sugars), is too high.

» Eating too many carbohydrates, fatty foods or sugary foods can lead o
obesity, which can increase the risk of type 2 diabetes and heart disease.

» Eating too many salty foods can cause high blood pressure.

« Too much saturated fat can lead to high cholesterol.
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A

A. G en France (to France)
4 - - en ltalie (to Italy)
20 je vais en Inde (to India)
T (1g0) en Europe (to Europe)
> en Afrique (to Africa)
nous allons en Asie (to Asia)
we 9o en Espagne (to Spain)
Normalement (we go) en Ecosse (fo Scotland)
(Normally) aux Etats-Unis (to the United States)
Le weekend
(On the weekend) en frain (by train)
B. : en bus (by bus)
Tous les weekends Je voyage en bateau (by boat)
(Every weekend) (I'travel) en avion (by plane)
— — en vélo (by bike)
Tous les ans nous voyageons en car (by coach)
(Every year) (we fravel) en moto (by motorbike)
o en caravane (in a caravan)
Tous les étes en voiture (by car)
(Every summer)
Souvent C. q dans un airbnb (in a airbnb)
(often) dans un gite (in a gite)

) ‘e reste dans un camping (in a camping site)
Quelquefois J(I stay) dans un hétel (in a hotel)
(Sometimes) — y — ClCNs UNe villa (in a villa)

nous restons dans une auberge de jeunesse (in a hostel)
dans une maison (in a house)
(we stay)
chez ma famille (at my family’s)
chez des amis (at my friends’)
Des opinions !
un peu (a little) cool
Je frouve que c'est assez (quite) amusant (funny)
(I find that) (itis) vraiment (really) sensass (sensational)
Je pense que ce n'est pas trés (very) intéressant (interesting)
(I think that) (itis not) AN
frop (too) génial (great)
super (super) nul (rubbish)

Year 8 - French - Topic 1 - Les vacances et la météo (holiday and weather)

Les questions

a0

L

o A. OU vas-tu en vacances? (Where do you go on holiday?)

% B. Commentvoyages-tu en vacances? (How do you go on holiday?)

{
C. Ou restes-tu en vacances? (Where do you stay on holiday?)

. ”,
€D e

D. Quel temps fait-il? (What is the weather like?)

chaud
(nice)

Il fait...
(The weatheris...)

%[ Il neige ( it snows) ]

(2)[ Il pleut (it rains) ]

660

(hot)

f /::

] o

des nuages

(clouds)
\/

SLh
des orages llya...
(thunderstorms) (There is/are...)

"4

du soleil
(sun) 1,

/I\

=20

o)
du vent
(wind)
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en France (to France) nﬂ Les questions
je suis allé en Ifalie (fo Italy) ‘;u
(I went) en EcE;TosTseU(’rQ S(;:OTTLonS) ied States| - c: E. OU es-tu allé en vacances? (Where did you go on holiday?)
E. m—p | CUX Etats-Unis (to the United States —
n — & a la campagne (to the counryside)
nous sommes alles d la montagne (to the mountains) @
m 40 (we went) & la plage (to the beach) F. Qu'est-ce que tu as fait en vacances? (What did you do on holiday?)
o dans une ville (in a city)
o Y
o o
Des opinions !
l(—|;ert day) un peu (a little) cool
esterday i
. . C'était (it was) assez (quite) amusant (funny)
Hier soir vraiment (really) sensass (sensational)
(Yesterday night) (Ci:Tewnc;ser:grl)T pas trés (very) intéressant (interesting)
Le weekend dernier g X trop (too) génial (great)
Last weekend j' i visité es monuments .
( ) (I visited) (monuments) super (super) nul (rubbish)
La semaine derniére > . p— . pr—
(Last week) nous avons visité des musées
(we visited) (museums) :
avec mes amis
L'année demiére X ; (with my friends) My exira vocabulary
(Losf yegr) au restauran #
i'ai mangé (at the restaurant) ((:N%:: mOfmeli”;a
with my family
F. I (1ate) au bord de la mer
. on the seaside p—
> — th id
nous avons mangé
m (we ate) dans un parc
(in a park)
i'ai fait du sport
(I did) (sport)
# ﬁ —
nous avons fait du camping
(we did) (camping)
de la natation
(swimming)
les magasins
(shopping)




&Dswe Year 8 - Geography - Our Physical World

ACADEMY

The Earth’s Structure

* The Earth’s structure is
split into four layers: the
crust, the mantle, the
outer core and the
inner core.

* The crust is the outside
layer and it is the
thinnest

* The mantle is made up
of molten rock called
magma. Convection
currents happen here.

« The outer core is
completely liquid and is
mostly iron and nickel.
It can reach 5500°C.

* The inner core is solid
and is also mostly iron
and nickel.

Plate Boundaries
The Earth’s crust is like a
jigsaw puzzle - it is broken
up into pieces that are
moved by the convection
currents in the mantle.
These pieces are called
tectonic plates.
There are two main types
of plates: continental
(which has land on top)
and oceanic (which has
water on top).
Plate boundaries are
where these tectonic
plates meet.
There are four types of
plate boundaries:
Constructive,
Conservative, Destructive
and Collison.

Volcanoes

Plate Boundary

What happens?

Constructive

This is where two plates move away
from each other. Magma rises through
the gap creating new land.
Volcanoes are formed.

Conservative

This is where two plates slide past each
other, or are moving in the same
direction at different speeds. There is
often a build up of friction.
Earthquakes happen at this plate
boundary.

Destructive

This is where an oceanic plate and a
continental plate move towards each
other. The oceanic plate sinks below
the continental plate as it is heavier
causing some friction.
Volcanoes, fold mountains,
earthquakes and tsunamis happen at
this plate boundary.

Collision

This is where two continental plates
move together. They push against each
other and the plates crumple.

Fold mountains to form.

Keyword Definition
Biodiversity The yorlefy of plant and animal life in a
particular area.
Collision Where two continental plates collide.
. Where two tectonic plates slide past each
Conservative ;
other, or move at different speeds.
. Where two tectonic plates move away
Constructive
from ach other.
This is where magma heated by the core
Convection rises and as it gefts further away it cools
Current down, causing the tectonic plates to
move.
. Where an oceanic plate and continental
Destructive
plate move towards each other.
Lava Molten rock on the Earth’s surface.
Molten or semi-molten rock under the
Magma )
Earth's surface.
Molten rock Rock that has been melted.

Plate boundary

Where two tectonic plates meet.

Pressure

A continuous force on or against an
object,

+ A volcano is an opening in the Earth's crust. It allows hot magma, ash and gases to escape from below the surface.

+ There are two types of volcano; shield (flatter and more rounded; composite (steep sided and cone shaped)

* Volcanoes release magma and super-hot ash called pyroclastic flows

Iceland Eyjafjallajokull 2010

+ April 2010 the volcano erupted. Areas were flooded because of the glacier melt water. Agricultural land was damaged, and

farms were hit by heavy ash fall. Some roads were destroyed. Travel was severely disrupted as many flights were

cancelled between 14 and 21 April 2010. Businesses lost trade. Air operators lost millions of pounds each day

Philippines 2020

+ Homes were destroyed by ash and lava. 45 people died in the first 24 hours. Cholera spread because of lack of sanitation in

areas that people fled to. People returned to Goma hoping to find aid. One month after the eruption, 350,000

people were dependent on aid. Lava covered 15 per cent of the city of Goma and destroyed 30 per cent of the city.

Primary Effects

Effects that occur as a direct result of the
ground shaking, e.g. buildings collapsing.

Secondary
Effects

Secondary effects occur as a result of
primary effects, e.g. fires.

Seismic Waves

Waves of energy that fravel through the
Earths layers as a result of earthquakes.

Where one plate moves under another

Subduction and is forced fo sink.
Relates to the structure of the Earth’s crust
Tectonic and any processes that take place within
it.
A large ocean wave usually caused by an
Tsunami underwater earthquake or volcano.

Itis different to a tidal wave.
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Causes of Tsunamis

Most tsunamis are cased by earthquakes at
destructive plate boundaries.

The energy released causes a wave to form.
These waves can travel large distances.

When the waves reach shallower water, the
waves slow down, increase in height and get
closer together.

This massive wave then hits the coastline.

Indian Ocean 2004 Tsunami

Magnitude ¢ earthquake caused the tsunami
that affected 13 countries and killed
approximately 230,000 people.

It was devastating because the epicenter was
close to densely populated areas and there
was no early warning system in place.

Japan 2011 Tsunami

Severe 9.0 magnitude on 11t March 2011
causing a tsnumai.

The tsunami had wider issues as it flooded the
Fukushima Nuclear Power Plant causing a
system meltdown.

The area had to be immediatly evacuated due
to dangerous levels of radiation. The area

remains uninhabited to this day.

Earthquakes
An earthquake is the shaking and vibration of the Earth’s crust due

to movement of the Earth’s plates.
They happen when tension is released from inside the crust. Plates
do not always move smoothly and they can sometimes get stuck.
When they get stuck, pressure is built up. When this pressure is
released, there is usually an earthquake.
The point inside the crust where the pressure is released is called
the focus. The point on the surface directly above the focus, is
called the epicentre.
Earthquake energy is released in seismic waves. These are felt
more strongly closer to the epicentre. The most damage will occur
closer to the epicentre.

Nepal Case 2015 Study

7.8 magnitude earthquake struck the capital city of Kathmandu on

April 25, 2015. About 9,000 people were killed, many thousands

more were injured.

Nepal is a developing couniry and lacked the wealth and

infrastructure needed to be resilient and the impact was severe.
New Zealand 2011 Case Study

6.3 magnitude earthquake in Christchurch struck on 22nd February

2011. 181 people were killed. 2,000 injured. Over 50% of the city's

buildings were damaged. Businesses were closed for a long time.

International aid was provided (around $6-7 million). Temporary

housing was provided

Keyword Definition
Biodiversity The yoneTy of plant and animal life in a
particular area.
Collision Where two continental plates collide.
. Where two tectonic plates slide past each
Conservative ;
other, or move at different speeds.
. Where two tectonic plates move away
Constructive
from ach other.
This is where magma heated by the core
Convection rises and as it gefts further away it cools
Current down, causing the tectonic plates to
move.
. Where an oceanic plate and confinental
Destructive
plate move towards each other.
Lava Molten rock on the Earth’s surface.
Molten or semi-molten rock under the
Magma )
Earth’s surface.
Molten rock Rock that has been melted.

Plate boundary

Where two tectonic plates meet.

Pressure

A confinuous force on or against an
object,

Primary Effects

Effects that occur as a direct result of the
ground shaking, e.g. buildings collapsing.

Secondary
Effects

Secondary effects occur as a result of
primary effects, e.q. fires.

Seismic Waves

Waves of energy that fravel through the
Earths layers as a result of earthquakes.

Where one plate moves under another

subduction and is forced to sink.
Relates to the structure of the Earth's crust
Tectonic and any processes that take place within
it.
A large ocean wave usually caused
Tsunami by an underwater earthquake or

volcano. It is different to a tidal wave.
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What is quality of life? Happiness in Bhutan

Development is about + Bhutan is located
improving people’s in eastern Asiq,
quality of lie. bordering China
Quality of life is the and India.
standard of headalth, + Gross National
comfort and happiness Happiness is
experienced. considered to be
Factors of a good more important
quality of life could be: than Gross
* Access to good Domestic Product
healthcare in Bhutan.
+ Access to good * The Gross National
education Happiness Index
* Decent living looks at the
conditions general wellbeing
* Enough money of Bhutan’s
to buy the [} population.
essentials for 9
living.

A Fact-Based World View

When humans are asked simple questions about global
frends - what percentage of people around the world are
living in poverty, why the global population is increasing -
we systematically get the answers wrong.

Chimpanzees, choosing answers at random, will
consistently get more answers right than journalists and
bankers.

A ‘fact-based’ world view is all about challenging
misconceptions about poverty and the world being
porfrayed negatively. It is about about using facts and
statistics to tell a more positive world story.

The world is in a much better state than we think. By
embracing on a ‘fact-based’ world view, we will be able
to focus on the things that threaten us most and do
something about them.

©

Development Indicators
+ Development can be measured in
different ways.

Examples of Development Indicators

Gross National Income (GNI) - shows how
wealthy a country is and is measured in ‘per
capita’ which means per person.

Life Expectancy - the average age you are
expected to live to from birth.

Literacy Rate - the percentage of the
population (over the age of 15) that can
read and write.

Infant Mortality Rate — The number of deaths
(per 1000) of children aged 1 and under.

Human Development Index (HDI) - a
composite indicator that looks at GNI per
capita, life expectancy at birth, average
years of schooling and expected years of
schooling.

Using GIS in Geography
GIS can be used in both human and physical
Geography.
GIS can be used to show different statistics of
development in a visual way - whether using
choropleth maps or graphs.
For example, the map below shows population size
using different sized circles for each country.

Keyword

Definition

Contamination

The action of making something polluted or
poisoned.

A high-income country that has good

Developed healthcare, lots of well paid jobs and good
housing.
A low-income country that has poor
Developing healthcare, few jobs, poor quality housing

and poverty.

Development

Improving a person’s or country’s quality of
life.

Distribution The spread of where something is.
A new, growing economy, a country that is
Emerging starting to get richer and improve housing
and healthcare.
. A global organisation that helps farmers get
Fair frade o
a fair price for the crops and goods they sell.
Geographical Information Systems - a tool
GIS that collects, analyses and presents

geographical data.

Globalisation

The process of interaction among people,
companies, and governments worldwide.

A thing that tells you the state or level of

Indicator .
something.
Inequality When something is not equal.
Malnutrition Eating enough of the right nutrients.

Over-nutrition

Eating too many of the wrong nutrients.

The standard of health, comfort and

Quality of life happiness experienced.
Having clean water, good sewerage and
Sanitation waste disposal to help prevent disease and
protect people’s health.
A factory or workshop, especially in the
clothing industry, where manual workers
Sweat shop

are employed at very low wages for
long hours and under poor conditions.




Health Inequality

&Dsve Year 8 - Geography - Our Unequal World . Indeveloped countries _healthcare

e Food Inequality systems are well-developed and funded

Globalisation « Food inequality is where some people in the world have by governments. People have access to

- Globalisation is the process of interaction access to enough, nutritious food whereas others don't. good healthcare and medicine. Life
among people, companies, and * The mqp below shows,. the percen'rqge of a country’s expectancy is high.

governments worldwide. population that are considered malnourished. + In developing countries healthcare is

often poor, particularly in rural areas,
where people die from even common
diseases and life expectancy is low.

» Technological advancements (e.g.
aeroplanes, Wi-Fi) are making it easier to
connect with other parts of the planet.

« We are now able to travel further and faster . A\ AMERICA
~
o

Causes of Poor Healthcare in Developing
Countries
 Workplaces don’'t follow health and

than ever before - this leads to the idea of

a ‘shrinking world'. =
25%-34.9%

15%-24.9%

z K
sweat Shops | safety rules which can lead to people jq %
+ In emerging and developing countries, —— ;Zfierms‘gr:‘iz:trinc;n beople dont have
sweat shops develop as it is cheaper to n * . - :
transport goods from abroad than it is to ® + Around 815 million people in the world do not have enough access fo toilets of facilities to wash their 6
pay wages in developed countries. m Dy food to lead a healthy life. In Africa, around 1 in 4 people hands. ‘
- A sweat shop is a factory or workshop, “ are malnourished. * Dirty, polluted water can cause a range
especially in the clothing industry, where + Let's take a look at some of the causes and effects of food of diseases.
manual workers are employed at very low inequality - focusing on South Sudan. . :?glfegz :;If:lgl})c') :IOQC:]C: cl;lfe"cll:essil'lezi people %
wages for lon hours and under .
poc?r conditions. ? Causes of Food Inequality * There are few doctors and hospitals.
« Poverty - 80% of population live on less than US$1 a day. People are unable to travel the long
Ny » Long periods of drought so crops can’t grow. distances.
The Geography of Chocolate 774 h ;
. Cocoa beans are most commonly grown ..EE + Conflict - people forced to leave their homes, crops and « Poverty means that people cannot
o oo ¢ . R cattle. afford to pay for medicine, vaccinations
:lijhzﬂile::d Izr?dr‘cl)nzgi?: ' 20°S in countries like ﬁ . :::: shortages increase the prices so people can't afford or freatment.
» Trade is not always fair - the most money ' —r _—

Healthcare »  People who live in rural areas have little to no »  People regularly go to the doctor for check-

from a chocolate bar foes to the
supermarkets and a very small amount
goes to the cocoa bean farmers.

+ Life for a cocoa bean farmer is difficult -

access to healthcare. Hospitals and clinics are ups.
far away, and people might have to lose a day’s « There is a universal healthcare system where

Effects of Food Inequality
* Peo.ple are . more II_I(er io get dlseases as ihey are nOt &N «  Adoctor's appointment can cost 1000 rupees healthcare costs.
geﬂlng the "ghi n Uirlents, < \ (US515) and many people cannot afford this « Medical equipment and treatments are

wage to reach them. the government pays up to 90 per cent of

. modern.
« If people are ill, and unable to access healthcare, they Lifestyle and diet

«  People may be undernourished, so are unable to « People eat a lot of fruit, vegetables and fish
. .
may not be able to go to school or work, leading to further Y- fight off lnesses. which helps them to stay healthy.

\ +  People may eot food which is contaminated with | = People stay active and exercise reqularly.

poverty. . bacteria such as salmonella. « Most children in Japan walk to school.

they don’'t earn enough money to pay for
food, clothes, medicine or education.

* Fairtrade is an organisation that helps
farmers get a fair price for the crops and
goods they sell - making sure that farmers
in developing countries are not in poverty.

spread disease.
+ Baocteria thrive because only 65 per cent of

most basic water supply to clean water and good sanitation such as a
However, th"s is only one end of the scale- ’n some COUﬂfrieS, + Contaminated woter contains bacteria that flushing toilet and piped sewerage system
there is over-nutrition which also has negative effects on riathrive because only 65 percentof

. b & people have basic sanitation, such as toilets an
people’s lives. [ hondwashing facilties.

@ Sanitation « 12 per cent of people do not have access to the + 100 per cent of the population have access
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Y8 - History — The English Civil War, 1642-51

Stuarts

Family that ruled England, Scotland, and later Wales.

Divine Right of Kinas

Belief that kings gain their power/ right to rule from God.

Who was importante

XA

Elizabeth | (queen and aunt of James.)
Henrietta Maria (wife of Charles I)
Charles Il (son of Charles 1)

James | (nephew of Elizabeth, king after her death)
Oliver Cromwell (military leader of Parliament during Civil War)
Prince Rupert (nephew of Charles | and commander of Royalist army)

Charles | (son of James 1)

Events leading to the English Civil War

Civil War A war fought within a country between its own people. E.G. The King
Vs Parliament.
Parliament A Government of a country who help decide on laws and how the
.ﬁ‘ country is run.
oom
Royalist i A person who was on the side of the King during the Civil War.

1. Queen Elizabeth dies. James | becomes King 1603.

Parliamentarian

'\;T! A
o
BL

A person who was on the side of Parliament during the Civil War.

2. The Gunpowder Plot, 1605. Catholic plot to blow up
parliament.

7.1634-38, Charles raises money by taxing his
people more. He uses ship tax which many
believed shouldn’t have been used.

8. 1638-41, Charles and parliament argue
continuously over money, religion and war.
Parliament are dismissed and called back

Ship Tax i\ An emergency tax asked for by a king in times of war to be used to 3. Charles | becomes King, March 1625
W | build ships. several times.
Puritan Ell:ll:l A form of Christianity that followed strict beliefs about God and living 4. Charles | marries Catholic French Princess, Henrietta 9. Nov. 1641." The Grand Remonstrance’ —
daily life. : i NN s ; :
Maria, March 1625. Unpopular marriage. Parliament issue a list of complaints to Charles
Roundheads Supported Parliament in the Civil War and fought against the king. explaining why they are angry.
Cavaliers Supported the King in the Civil War and fought against Parliament. M .
. May 1626, Charles and Parliament argue about
’ 7 5Chc1r|;/s’ f}dévig:ors and Charles dismisses S?’@rlimmen’r 10. Jan. 1642, Charles arrests 5 members of
Cavalry ) %ﬁ’f Type of soldier who fought on horseback. . parliament for treason in the House of
K?’ Commons, peace cannot be kept so Charles
Pikemen Type of soldier who fought with a 7.5-foot spear-like weapon.

6. Parliament recalled when Charles needs money.

declares war on parliament in Aug. 1642.

Musketeer ‘\'
,\:4

Type of soldier who fought with a musket (an early form of gun.)

Infantry ‘H\

Soldiers who fight on foot, not horses. E.g. the musketeer and
pikeman.

Propaganda

Information that is usually one sided used to promote a political cause
or point of view.

New Model Army

A new paid, professional army set up and used by Parliament.

Commonweolfkg
<

Structure of government ruled without a king across England, Wales,
Scotland, and Ireland between 1649 -1660.

Tyrant 959
i

A ruler that is cruel, selfish and not eager to share power.

' '

What happened after?

)
S
O

Marston
Moor 1644

Edgehill Naseby 1645

Newbury -
1643

- 20th Jan. 1649, Charles | was put on trial for
freason and found guilty. Sentenced to
death.

- 30" Jan. 1649, Charles | was executed by
beheading, first/only king of England to be
executed by their own people.

- 1653-58, Oliver Cromwell rules as ‘Lord

Protector’ with no king.

1660, Charles Il is made king and the

monarchy is restored.
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The battle for the throne

Who killed the princes in the tower? .3.
=

Richard Il Henry Tudor

Richard was the uncle to the boys Henry Tudor felt he had a claim
and would be next in line to the to the throne because his bloodline
throne if they boys were murdered. led back to the House of Lancaster.

The War of the Roses

In 1459 there was a battle for the throne
between two rival factions. The House of
Lancaster had the red rose and were
supporters of the King, led by his wife

The princes in the tower
After Edward IV death his son was next
in line for the throne. But both
disappeared before one could be

crowned. Who would be king?

Margaret. The other side was the House of

York who had the white rose and was led ' The Battle of Bosworth
by Richard Duke of York. ; i ) P oY
Y \{:\\) @ Henry Tudor fought Richard Il at the Battle of Bosworth. Richard \’I
\/\/\/ charged at Henry but fell off his horse. He became surrounded by d ,
- Henry's men and was killed. Henry Tudor won the Battle. / \
House of Lancaster

Henry VI was the king of England and
the head of the House of Lancaster.

A wealthy nobleman called Richard
Henry hated the idea of war he 4 Duke of York helped ruled after
. The Tudors
preferred books and churches. This ===

House of York

Henry's breakdown. He would lead a .
caused him to have a mental Yorkist rebellion for the throne. Known Henry Tudor’s win at the battle meant that the Tudor dynquy was w
breakdown as the start of the War of the Roses now on the throne. Henry created the Tudor rose. A combination
in 1453 ’ of the Lancaster and York rose to symbolise the end of the War of ——
’ the Roses.

Outbreak of the war
Margaret hated the powerful Duke of York and declared

him a traitor. This is when the war broke out between the

two sides. There was many battles which resulted in the 1453 1459 1461 1483 1485 1485

death of Richard and his son Edward IV becoming leader :
~! v Henry VT has The War of the Edward IV~ The princes  The battle of  Henry Tudor
of the Yorkist's. Edward was crowned King of England and enry a became King The start of Tudor rule

Henry fled. mental breakdown Roses began became king went missing Bosworth
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Henry Vi

Henry VIl (Tudor) became King after winning
the Battle of Bosworth. However, he had a lot
to do to make sure the Tudor dynasty would

confinue for the next 100 or so years.

Mary |
+ Her mother was Catherine of Aragon

* Mary was a Catholic
+ She became queen after her brother
Edward died at a young age

Was Henry VIl a gangster?

He banned private armies

France if they didn't pay.

. He made sure that he had the best

cannons

He forced the rich to give him money.
He forced the poor to give him money.
Henry threatened to go to war with

* Mary did not have any children/heirs
* Due to her harsh tfreatment of Protestants
she was called ‘Bloody Mary’

Elizabeth |
* Her mother was Anne Boleyn
» Elizabeth was a Protestant

Henry Vil

The son of Henry VII, Henry VIl became King in

1509 when his older brother died

unexpectedly. Meaning he was next in line for

the throne after his father’'s death.
He is most famous for having 6
wives in his desperation for a son.

+ Some believed she was unfit fo been
queen because her mother was not Henry
VIII's first wife

» Elizabeth never married or had any
children — her nickname was ‘the Virgin
Queen’

+ She had a major war with Spain

Catholic A main branch of Christianity led from
Rome by the Pope
Protestant A form of Christianity in opposition to

Catholicism

Lancastrian

A supporter of the king during the War
of the Roses

Yorkist A supporter of Richard Duke of York
during the War of the Roses

Tudor A royal dynasty that ruled England
from 1485 to 1603

Protector A nobleman ruling on behalf of the
King until they become of age

dynasty A line of hereditary rulers of a country

Heretic Someone with beliefs that question or
confradict the established church

Corruption The misuse of power for dishonest

purposes, offen wealth

Reformation

A movement to reform the Christian
church

Monasteries

A building occupied by monks

Divorced Beheaded

Catherine of Aragon Anne Boleyn

Executed for
freason

Failed to provide a
male heir

Was Henry VIIT a player?

Beheaded

Survived

Died Divorced

Katherine Howard Katherine Parr

Jane Seymour Anne of Cleaves

Outlived Henry
who died in 1548

Died after giving Marriage was Had an affair

Henry his only male annulled after only 4
heir months.

Dissolution An act to end or dismiss

Heir A person next in the line for the throne
through bloodline

Rebellion An act of armed resistance to an
established government or leader.

Taxes The government demand money from
the people.

Act of A law that created the Church of

Supremacy |England

Latin The language of Ancient Rome

The Six Set out the religious beliefs of the

Articles Church of England.
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Year 8 PRE-Term 1 — How do believers practise their faith? Prayer and Pilgrimage.

Key Words:

Communication: giving or
exchanging information by
speaking, writing, or using some
other medium

Prayer: a request for help or
expression of thanks addressed fo
God or another deity.

5 Pillars of Islam: 5 basic acts in Islam
which are considered compulsory
by believers, and are the
foundation of Muslim life

Salat/ Salah: The ritual prayer of
Muslims, performed five times daily
in a set form

Shrine: a place regarded as holy
because of its link with a god, the
divine or a sacred person , marked
by a building or other construction.
Puja: A worship ritual performed in
the morning by Hindus

Pilgrimage: A journey to a sacred
place for religious reasons

Hajj: The greater Muslim pilgrimage
to Mecca, which takes place in the
last month of the year and which all
Muslims are expected to make at
least once during their lifetime if
they can afford to do so

Lourdes: a leading place of
pilgrimage for Roman Catholics
after a young girl, Bernadette
Soubirous, had visions of the Virgin
Mary in 1858

Miracle: an extraordinary and
welcome event that cannot be
explained by natural or scientific
laws.

Environmental issues: climate
change, pollution, environmental
degradation, and resource
depletion.

Hindu Cremation: The most common
practice is to cremate the body,
collect the ashes, and on the fourth
day, disperse the ashes in a sacred
body of water e.g. The Ganges.

A pilgrimage is when people travel to a place
of worship that is usually far away. They may
have to go to a different city or country. A
pilgrimage is done for spiritual or religious

Christianity

Pilgrimage Holiday

A holiday is where families,
friends or individuals will fravel
for a vacation to spend fime

together relaxing.
reasons.

Religious beliefs about Prayer

Christians do not have a set way to pray.

They may pray formally, e.g. in a Church with others, or informally, e.g. at
home using their own words

Jesus gave an example of how to pray: The Lord’s prayer. This prayer
includes praise to God, asking for forgiveness and asking for help.

Christianity

What is the difference between a pilgrimage and a holiday? Examples of Pilgrimage

Lourdes is a pilgrimage site in France

Every year, it is visited by millions of pilgrims, particularly Roman
Catholics.

They go to see the site of a famous vision experienced by a
young girl called Bernadette Soubirous and to be healed by its
supposedly miraculous waters.

St Bernadette claimed to have seen the Virgin Mary (Jesus’
mother) appear to her several times

Christian pilgrims now visit and pray in the Sanctuary of Our
Lady of Lourdes and worship at the grotto where the vision is
said to have taken place.

Pilgrims mawy visit to be cleansed of their sins and to be cured of
theirilinesses. It is believed that spring water from the grotto
can heal people if they are sick. Millions of visitors come to
Lourdes each year in the hope of being cured.

By 2015, 69 cases of healings had been recognised as miracles
by the Roman Catholic Church.

Islam

Salat refers to Muslim prayers, performed five times each day. It is the
second Pillar of Islam.

God ordered Muslims to pray at five set fimes of day:

Dawn, before sunrise, Midday, after the sun passes its highest, The late part
of the afternoon, Just after sunset, Between sunset and midnight.

All Muslims try to do this. Muslim children as young as seven are
encouraged to pray.

In Islamic countries, the public call to prayer from the mosques sets the
rhythm of the day for the entire population

Muslims will also perform a series of movements that go alongside the
words of the prayer.

Muslims must wash before they pray which is known as Wudu

Hinduism

%

Hindu worship, or puja, involves images (murtis) and prayers (mantras)
Central to Hindu worship is the image, or icon, which can be worshipped
either at home or in the temple.

Hindus will use a Puja tray which contains items such as a bell (to awaken
the god/ goddess), incense and powder to make a paste.

Worshippers repeat the names of their favourite gods and goddesses, and
repeat mantras. Water, fruit, flowers and incense are offered.

The majority of Hindu homes have a shrine where offerings are made and
prayers are said.

A shrine can be anything: a room, a small altar or simply pictures or statues
of the deity.

Family members often worship together and there may be a god
fraditionally worshipped by the family

Different gods have different attributes, for example Ganesha is the
remover of obstacles.

Islam

For Muslims it is a duty to go on pilgrimage to Mecca (in Saudi
Arabia) at least once in their lifetime, as long as they are
physically able and can afford it.

The pilgrimage is called Hajj and is the fifth Pillar of Islam.
lhram relates to the state of purity and equality before God
(Allah) which Muslims enter before going on Hajj. To symbolise
this state, male pilgrims wear two lengths of white cloth whilst on
Haijj; female pilgrims wear ordinary clothes, but must keep their
faces uncovered. These clothes may be kept by the pilgrim and
at their death used to wrap their body for burial.

Muslims perform many rituals during Hajj, for example:, running
between the hills of Safa and Marwah 7 times an walking
around the Ka'bahd taking water from the spring which is
called Zamzam.

During Hajj, Muslims also travel to Mina, to the plain of Arafat
where they stand on or near the Mount of Mercy from noon
until dusk, praising Allah.

On the third day, they will throw smalll stones at 3 pillars called
Jamarat, which represent the Devil.

At the end of the pilgrimage, Muslims celebrate the festival of
Eid ul-Adha

Hinduism

o

The River Ganges is seen as a place of pilgrimage for Hindus

It runs for more than 1500 miles across Asia and is considered to
be sacred and spiritually pure, though it is also one of the most
polluted rivers on earth.

Some Hindus believe that it flowed from heaven to purify
humans. Sometimes the river is represented in female form
because many Hindus refer to it as 'mother Gangaa' or 'she'.
Many Hindus believe water from anywhere on the River Ganges
is purifying and holy.

Many pilgrims also take home small containers of water from
there to give to friends and family who are not able to attend.




